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1. Plague is a disease caused by
(A) Mosquito
(B) Rats
(C) Bats
(D) Birds

2, “Anandamath” was written by
(A) Bankim Chandra Chatterjec
(B) Satat Chandra Chatterjee
(C) Rabindranath Tagore
(D) Rashbehari Bose

3. The First Speaker of the India Constituent
Assembly had been

(A) G.H, Deshmukh
(B) Hukum Singh
(C) Swaran Singh
(D) G.V.Mavalankar

4. Two pipes A and B can fill a tank in
15 minutes and 20 minutes respectively. Both the
pipes are open together. But after 4 minutes pipe
A is turned off. What is the total time required.to
fill the tank?
(A) 10 min. 40 sec.
(B) 11 min. 45 sec.
(C) 12 min. 30 sec.
(D) 14 min. 40 sec.

S. Rajuand Param startajourney. Rajumoves -

northwards at a speed of 20 km/hr and Param
moves southwards at a speed of 30 km/hr, How far
will be Param from Raju after 60 minutes?

(A) 24km
(B) 50km
(C) 42km
(D) 30km

S

L. oo TR T PR =
(A) ot
(B) &=
(©) e
(D) *ifR

2. “WES 49 FAT-9F TN
(A) T BB
(B) *9<5% GGG
(C) I I
(D) wpifkest =]

3. oo ERam Ao 2w i fgEw
(A) f&r. 2P, oPoagy
(B) =g fig
(C) =t Bieg
(D) f&. fe. Treima

4. 76 #Ii25t A 932 B 9<% Sy vt 15 G
93 20 R ©fF v A | B Afzst 9
mmmﬁmﬁﬁﬁﬁamﬁvfﬁwwwfmﬁ
©f% 20 T9 7 AIE 2

(A) 10 fIfF0 40 e
(B) 11 fifG 45 cie
(C) 12 [if 6 30 G
(D) 14 FFG 40 Giers

5. A% 8 a9 Tt wF T | A 20 R/ 95!
(051 T ee 92 st 30 6B/ 995t st wies e
A | 60 TG =11 775 (0T w19 F0 77 Qi p
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(D) 30 =™

www.kajkarmo.com



6. The average of 50 numbers is 28. If two
numbers, namely 25 and 35 are discarded, then the
average of the remaining numbers is nearly

(A) 27-29
(B) 2792
(C) 2927
(D) 29-72

7. If Rs. 1,000 becomes Rs. 1,400.in 4 years,
then find the rate of interest.

(A) 10%
B) 5%
(©) 15%
(D) 25%

8. The First Woman Ruler to sit on the throne
of Delhi had been

(A) Abeda
(B) Zubeida
(C) Rokeya
(D) Razia

9. The Chief Justice of the Supreme Court of
India is appointed by the

(A) Prime Minister of India
(B) President of India

(C) Vice-President of India
(D) Lok Sabha '

10, Two numbers are in the ratio 3 : 5. If each
number is increased by 10, the ratiobecomes 5: 7.
The numbers are

(A) 3,5
(B) 7,9
(C) 13,22
(D) 15,25

A-3 . AMRI22

6. 50 T ¥aa v 28 | 3 ¥t ALY, G 25
3R 35 A (FET T, SR A TRANeF 5T
(2m) TS 7

(A) 2729
(B) 27-92
(C) 2927
(D) 29-72

7. AT TS oI YW 4 I 1,000
1,400 Sizt 74 ¢ .
(A) 10%
(B) 5%
(C) 15%
D) 25%

8. i afze *1ve RAfR fer Fisgew sow—
(A) SR
(B) oAl
(C) @
(D) =ifemt

+

9, SIre A @A 4R RKerefews Fige
LA
(A) OFToT 2aRTR
(B) ©iarsd qigefe
(C) orTed BosigA®
(D) =TS

10. %5 Ry SgAre 3 : 513 &S s 10
T I 1 T, OIgE S 5 : 7 2 | Rptef &
(A) 3,5
(B) 7,9
(C) 13,22 -
(D) 15,25
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11. Pragyan is associated with
(A) Missile Technology
(B) Space Research
(C) Oceanography
{D) Climate

12. A,B and Cinvested Rs. 26,000, Rs. 34,000
and Rs. 10,000 respectively in a business. At the
end of the year, they earn a profit of Rs. 3,500.

B’s share of profit is
(A) Rs. 1,200
(B) Rs. 1,500
(C) Rs. 1,700
(D) Rs. 1,900

- 13. Polio is caused by
(A) Bacteria
(B) Virus
(C) Anti-biotic
(D} Medicine

5811

14. Find the L.C.M. of 2913
(A) 280
(B) 360
(C) 440
(D) 420

is
(A) Australia
(B) Canada
(C) Brazil
(D) India

15. ThePresidentofthe G-20 Groupof countries

A4

4. =

11, ‘eET-97 Wi @ Fekie faem wor
{@—

(A) g o
(B) w2 f{eaw
(©) A ==
(D) =agent

y
L

i

12. 3R IIAY A, B 93 C I 26 oooﬁm
34,000 B @t Iooooﬁaswﬁﬁmﬁmiw
(1A 91t 3,500 B 571© T | B-QEIW'@W?@

(A) 1,200 Bt
(B) 1,500 Bisst
(C) 1,700 Brt
(D) 1,900 B

13. (olifere qaet-a3 e TR
(A) TR
(B) ©i&am
(C) =if5-rais
(D) @3y

58 11
309 13 S AL, A

(A) 280
(B) 360
(C) 440
(D) 420

15. G-20 (1T (PiTEE Teiil® s
(A) e

- (B) FI©
) =
(D) =iFw

www.kajkarmo.com

.y N




A5 AMRI/22

16. By selling 100 pencils, a shopkccpcr gains
the selling price of 20 pencils. His gain per cent 1s\

(A) 25%
(B) 20%
) 15%
(D) 12%

17 A boat covers a distance of 30 km in
2 hours running downstream. Whlle retummg,
1t covers the same distance in 3 hours What is

the speed of the boat in still water'?
(A) 8km/hr
(B) 12 km/hr
(C) 15 km/hr
(D) None of the above

18. Theauthorof “The Story of My Experiments
with Truth” had been
(A) Netaji Subhas Chandra Bose
(B) Gopal Krishna Gokhale
(C) Mahatma Gandhi
(D) Aurobindo Ghosh

19. Who was known as Alamgir?
(A) Shah Jahan
(B) Jahangir
(C) Aurangzeb
(D) Akbar

20. Incomes of A, B and C are in the ratio

7:9: 12 and their expenditures are in the ratio

8:9:15. Ingssa,vingis % of his income, then the
ratio of savings of A, Band Cis

(A) 56:99:69

(B) 99:56:69

(C) 69:56:99

(D) 99:69:56

16. 100% e Rfes w02 gwe= G 201
. (ol TR o =S G | Ol Fieed *eike T
(A) 25%
(B) 20%
(C) 15%
. (D) 12%

17. WWWM2 ﬂc%‘imoﬁﬁ
vs:f‘w-ﬂafr.almmuﬂﬁms 751
w%mmlﬁzawmﬂi%mw'e
(A) 8 [hRi/H
(B) 12 f&hi/at
(C) 15 fefitf=dt
(D) ®sirae @i 7w

18. “The Story of My Experiments with Truth”
-7 L e
(A) TeifE Joree T,
(B) ColoAlE a6 (AT
(C) = it
(D) S a3

9. SENSE Wi & #ifie e
f (A) MR ST
(B) wgHE
(C) @TTTA
(D) SRR

20. A, B €% C-99 SIS SHAS 7:9: 12
TR O JEASA® 8 : 91 1517 A ST ST
-%W‘(‘TWM,WA,BQ?‘( C-97 FEAT
AT FS?
(A) 56:99:69
(B) 99:56:69
(C) 69:56:99

(D) 99:69:56
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21. There are three full containers of mixture of
milk and water and their volumes are in the ratio
7:5:13. The milk and water ratio in these
containersis2 : 3,47 : 53 and 9 : 11 respectively.
If these are mixed together, find the ratio of milk
and water in the new mixture.

(A) 11:14
B) 14:17
(©) 9:16
D) 12:13

22. The First Vice-President of Independent
India had been

(A) C.-Rajagopalachari

(B) Dr. Zakir Hussain

(C) Dr. S. Radhakrishnan

(D) Maulana Abul Kalam Azad

23, If ==—, —== thenthevalueofa: b : cis

(A) 7:9:15

B) 7:9:5

(C) 21:35:45
" D) 7:3:15

24. Who said, “Swaraj is my birthright?
(A) Gandhi
(B) Nehru
(C) Tilak
(D) Gokhale

25. farb=3:5andb:c=7:8, then
2a:3b :7cis equal to
(A) 42:105:280
(B) 15:21:40
(C) 6:15:40
(®) 30:21:350

A-6

21. Y QR eeTs! TRtety fomf ol stta sz g
IR TS GHA® 7 : 5 : 13| % Aqufie 7y
IR G AT TG 2 - 3,47 : 53 939 : 111
qafe qi e e Ton feet 74 e eem
el el et

22. FEW SRTOR AN ToigigHs em

23.

24.

(A) 11: 14
(B) 14:17
(C) 9:16
(D) 12:13

= 2

(A) B sisitas

(B) ©. Slf=RieH

(©) ©. 97 i

(D) CRITI SIET <Pt e

2
¢

o~

¥, a:b:c-aIF T F9?

b

g
b

| w

"(A) 7:9:15

B) 7:9:5
(C) 21:35:45
(Dy 7:3:15

e S TP SR 3 SR w2
(A) =il
(B) H=F
(C) Teorw

(D) ColieiE

25. Wa:b=3:59Rb:c=7: 82T, SigL=

2a:3b:7c FO A2

(A) 42:105: 280
(B) 15:21:40
(C) 6:15:40
(D) 30:21:350
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26, Sushil was thrice as old as Snehal 6 years

back. Sushil will be % times as old as Snehal

6 years hence. How old is Snehal now?
" (A) 12 years
(B) 15 years
(C) 18 years
(D) 24 years

27. The compound interest on Rs. 20,480 at

6% % per annum for 2 years and 73 days is
{A) Rs. 3,000
(B) Rs. 3,131
(C) Rs. 2,929
(D) Rs. 3,636

28. If7:x=17-5:22-5, then the value of x is
(A) 6
(B) 8
(C) 12
D) 9

29. Dr. Meghnad Saha was a famous
(A) Mathematician '
(B) Physicist
(C) Chemist
(D) Doctor

30. If2=x+ , then what is the value of x?

® 3

-2_1-
17
13
© 17

©) 1=

' ®)

d 4
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26. 6 TZF S FACETS IH CIRIETE THETH 38
%lé@ﬂmwmwgm
T | QT TEAR T TS

(A) 12 9=
(B) 157
(C) 183=F
(D) 24 92

27. 20,480 %5/@ Tolq 2 7% 73 Tatwa ooy TS

6 % 20 D T
(A) 3,000 B
(B) 3,131 5=
(C) 2,929 Bt
(D) 3,636 Bt

28, M7 : x =175 : 225, OFF x~<A AT TG?
(A) 6
(®) 8
© 12
D) 9

29, 2 (I AR e e e
(A) sifdose
(B) #mdRw
(C) WM
(D) B

30, 3 2=x+ 11 T, I x~a9 i T2
l+—
3+l
. 4
18

A 7

® &
© o

D) 1
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31. Amanwalks 1 kmon 1st day, 2kmon 2nd
day, 3 km on 3rd day and so on. The total distance
the man covers in 10 days is

(A) 40 km
(B) 50 km
(C) 55km
(D) 58km

32, Sasanka was the King of
(A) South India
(B) Gujarat
(©) Gaur
(D) Malbhum

33. Find the value of:

(243)% x 32n+1,
A) 9

(B) 3"

(C) 3n—1

(D) 27

34. A and B can do a piece of work in 12 days;
Band Ccandoitin 15 days; C and A candoitin
20 days. A alone can do the work in

(A) 15% days

(B) 24 days
(C)y 30 days '
(D) 40 days T

35. Pisfasterthan Q.Pand Q each walk 24 km.
The sum of their speeds is 7 km/hr and the sum of
times taken by them is 14 hours. Then P’s speed is
equal to T

A-8

31. gz i g e 1 7Bf, RS faem 2 &6,
wou it 3 RS 2o 305 | el 10 e Geils v
Y ey FAE?

(A) 40 TR

(B) 50 %

(C) 55 &f

(D) 58 & )
32. *Mit% (1 S e eem oift =@

(A) e o

(B) o5 1

(©) (g

(D) et

33. W= T eat ¢
(243)% x 32041
gty 3n-1
(A) 9
(B) 3"
(C) 3n-l
(D) 27

34. A9 B T Frer 12 e 7900 7AIR; B @3¢
C 15 fe; C «@=2 A 20 Tt Fto “lica | A 9=t 93
TG0 FACO I 7

(A) 15%1%7{

(B) 24 s
(© 30Taa
(D) 40 fw

35. P, Q-99 (bW ¥ B | P ¥} Q Teowz
24 =l FB | oy sifew @sire 7 Bfi/a%t 932
GITH (ST IS (@IS 14 951 |'O12e P<ag e
JFo?

(A) 3 kmv/hr
(B) 4 krvhs (A) 3 /<6t
(©) 5km/hr (B) 4 Ref/at
(D) 6 km/hr (C) 5 /=
(D) 6 fHRi/=%1
i i l
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36, Acharya Jagadish Chandra Bose was a
famous

(A) Singer
(B) Poet

{C) Scientist
(D) Politician

37. The average of 15 numbers is 7. Out of
them the average of first 8 numbers is 6:5 and the

average of last 8 numbers is 9-5. The middle
number is

(A) 21
(B) 22
(C) 23
(D) 24

38. The First Battle of Tarain took place in
(A) 1192 AD.
(B) 1191 AD.
(C) 1205 AD.
(D) 1206 A.D.

39, The Akbar Namah was written by
(A) Abdul Hamid
(B) Faizi
(©) Abul Fazl
(D) Firoz Shah Tuglaq

40. Plants manufacture food through
(A) Photosynthesis
(B) Respiration
(C) Transpiration
(D) Evaporation

A9

AMRI/22
36. <o TR oE 7 e waew Ry
(A) TF
®B) =7
(C) Rt
(D) TS el

37. 15U Fe T 7 19T w0g 29 § BAE
4G 6-5 32 (78 8 {5 FLYI 51T 9-5 | SR Y 2=
(A) 21
B) 22
(C) 23
(D) 24

38. ©HizH-9F A LRI A
(A) 1192

(B) 1191
(©) 1205
(D) 1206

39, SE<T AW TSt o™
(A) =g gt
(B) &
(C) = FEEm
(D) Retare “itg 9F=e

. v
CE N TR

40..%@%@&%?1?@@%@@ aferaim
(A) FERHEA
B) Sfewa ==
(C) S Wi-ep
(D) Sfewma IrArean
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41, The Aihole Prasasti is associated with
(A) Samudragupta
(B) Vishnugupta
(C) Pulekeshin IT
(D) Rajendra Chola

42. Water is composed of
(A) Hydrogen and Ozone
(B) Hydrogen and Oxygen
(C) Nitrogen and Oxygen
(D) Chlorine and Oxygen

43. Which one among the following is the
largest?

(A)
(B)
©
)

n|d ool v oy

44. The difference between compound and
simple interest on Rs. 8,000 at 5% p.a. for 3 years is
(A) Rs.50 -

(B) Rs. 60

(C) Rs.61
(D) Rs. 600

45. Paradeep port is locatedin - -
(A) Lakshadweep :
(B) West Bengal -
(C) Odisha
(D) Tamilnadu.

A-10

41. wizzEE e da o 5w
(A) TEed
(B) Fgeey
(C) TSt sforcfim
(D) qltE® Glel

42. T4 @ g6 IS G Site—
(A) TRIGITEA |33 SRl
(B) ZR{GIE™ G WA
(C) TR 9<% RS
(D) @i q: =f3wew

43: SEGECENI SRR e I SoTe ok
(A)
(B)
©
1))

w s 0o]l-3 A Al

4. 3 A G 5% T Q" 8,000 T

Brgi 7 IR R T WY AN =
(A) 505t
(B) 60 B
(C) 615
(D) 600 Bt

45. +re IHT @A S —
(A) =Rt
(B) “Afowaer
(C) sfemi
(D) SifEmIg
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46. TheIndian National Congress was founded
in the year .
(A) 1883
(B) 1884
(C) 1885
(D) 1886

47. BRICS relates to
(A) Group of Countries
(B) Chambers of Commerce
(C) Political Parties '
(D) NGO

48. Find the value of:
L SR SR 1
ix2 2x3 3x4 77

) 15
®)
© 1

(D) 10

49. A bus travels first half distance between
two places with a speed of 40 km/hr and the
rest half distance with a speed of 60 km/hr. The
average speed of the bus is

(A) 42 km/hr
" (B) 50 km/hr
(C) 46 kin/hr
(D) 48 km/hr

50. Ram and Shyam together can finish a job
in 8 days. Ram can do the same job on his own in
12 days. How long will Shyam take to do the job
by himself?

(A) 16 days
(B) 20 days
(C) 24 days
(D) 30days

AMRI/22 -

46. SIATSA TR WECHE SfoHI W @ AE—
(A) 1883
(B) 1884 .
(C) 1885 -
(D) 1886

47. BRICS ==

(A) wigRs ot
B) T
(C) TCANT T
(D) CERITR Catrdt

48. = W T ¢
IR S S SRS B
1x2 2x3 3x4 70 9x10

@) 15
®)
© 1

®) 10

49. < T G TRAT G AL S GG

40T/ 951 <1t 9=k AT g 60 /D1

sifere SiET™ 70 | AT T oife Fo ¢
(A) 42 3f/=%t
(B) 50 /9%t
(C) 46 Rf/a%r
(D) 48 fhi/as!

50, S IR 8 et Gl <1 o TS
S | 2 0 93 @3 ey 12 Wi TG00 ANE (%01

it TIEs TS FOMA I (A7
(A) 16F=
(B) 20w
(©) 24T=
D) 30 =
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51. The Battle of Plassey was fought between

(A) Mir Qasim and Mir Jafar

(B) Siraj-ud-Daulah and the English East
India Company

(C) Mir Jafar and the French )

(D) Shah Alam and the English

52. Apipecan fill a tank in x hours and another
pipe can empty it in y (y > x) hours. If both the
pipes are open, in how many hours will the tank be
filled?

(A) (x~y) hours
(B) (y—%) hours
© =

x=y
ty)

hours

J—x hours

53. The ages of Samir and Tanuja are in the
ratio 8: 15. After 9 years the ratio of their ages will
be 11 : 18, What is the difference between their
ages?

(A) 20 years
(B) 21 years
(C) 24 years
(D) 33 years

54. The speed of a car increases by 2 km after
every one hour. If the distance travelling in the first
one hour was 35 km, what was the total distance
travelled in 12 hours?

(A) 456 km
(B) 482 km
(C) 552 km
(D) 556 km

A-12

51. NI Jrad T 2ffeee) forem
(A) 9 diFw ¢ Ne s

B) PreE-Sr-tnal ¢ SwEw 5. 3R
N /

&C) 7 wiwg @ v
(D) "IE S 6 30w

52. <0 #H2! 1 RBT 4B BI1E sje e S
AR GG y (v > x) T 4t A 0o HAem | 7
TOT #ifZet TN T QA B € B op¢f
LIk

(A) (x—y) T
(B) (y—x) <%

© 32, =0

X

xy
o 961

@)

53. 997 ¢ SR IAETE AT 8 1 1519 327
7Y S AT SANS 29 11 : 18| O INO
My To?

(A) 20927
(B) 21 3=4
(C) 24 3=d
(D) 33 4Ex

54. Af% 9 9961 o7 9T M oIS 2 iR
T W 2L G IV FAET qHY 7@ 35 [/,
12 TG1Y (G Sfoerpre rag T e

(A) 456 &
(B) 482 &
(©) 552 [
(D) 556 &

1
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55. The Sepoy Revolt initially broke out in 58, ﬁ“lﬁﬁ'ﬂﬁm G =L ol {ﬂ—f
(A) Kanpur ' . , (A) e
(B) Barrackpore (B) IR
(C) Chitpore © B Q%
DY Mi
(b) Mipur ©) fre

56. What is the interest of Rs. 300 at the rate of 56. 300 D191 11% TR 5 I | O

11% for 5 years? @) 1505
(A) Rs. 150
(B) Rs. 165 . (B) 16559
{C) Rs. 120 . : | . (O 1205
(D) Rs. 200 (D) 200 Bt

_ 57. Fahien had visited India during the reign of 57. ¥ oW 919 QOIS ST —
; (A) Harshavardhan (A) =g

} ' (B) Yasovarman - (B) wﬁ

\ ! (C) Chandragupta Maurya (©) Tmed G

‘ (D) Chandragupta I Vikramaditya

(D) fesin vmroe Remtfirer
58. The Panchayati Raj system was introduced 58, W?{ﬂﬂm@wwa@vﬂ@ﬂwﬁw
in India by one of the following amendments: fsfEie ot a9 s
(A) 72nd : (A) 72%%
(B) 73rd @) 735%
(C) 70th .
@) 71st : (C) 709
(D) 71e9
59. Ali travels a distance of 300m in 2 minutes. 59. =&t 2 fif 5 30 G 300 Rtk e s
and 30 seconds. What is h13 speed in km/hr? o4 | Bl 95y o sfewst T
(A) 69 (A) 69
B) 71 . B) 7-1
©) 72 ) 72
(D) 73 ‘ D) 73

Please Turn Over
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60. The distance from the town A to thetown B 60. 1T A (ACF B~ g 5 Wige «R B (AR

is 5 miles, C 1s 6 miles from B. Which of the C_._qqm GWIW@W@A@I@C—ﬂﬁW
following could be the maximum distance from

AtoC? T 2 Al
(A) 11 miles (&) 11 7%
(B) 8 miles . (B) 8%
(C) 2 miles _ (C) 2wz
(D) 4 miles (D) 4 =iz
61. Which of the following numbers is divisible 61. e @ 3G 3 vl [Keeg
by 37 (A) 24357806
(A) 24357806 (B) 35769812
(B) 35769812 . (C) 3336433
(C) 3336433 , (D) 83479560

(D) 83479560

62. Vitamin C is present in 62. foBifsM C (@ M “heql IF—
(A) Neem A) =
(B) Lemon ’ (B) IR
(C) Milk ' © T
(D) Carrot
(D) sirerq
63. Bats navigate in the dark using 63. AT TLa 2T T WG ARLE—
(A) Eyes (A) BH
(B) Nose (B) T
(C) Echo : (C) afswt
(D) Smell (D) it
64. The sum of the squares of two positive 64. 96 €I Al U @etEE 100 9%

integers is 100 and the difference of their squares Ot A0~ 28 | 91 1Ba @loree Fe 2
is 28. The sum of the numbers is

(A) 12 @) 12
(B) 13
B) 13 (C) 14 ‘
(C) 14 D) 15
(D) 15
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65. India becaine a Republic in
(A) 1951
(B) 1949
(C) 1950
(D) 1948

66. The Constitution of India was adopted on
(A) 25 November 1945
(B) 26 November 1949
(C) 26 January 1950
(D) 15 August 1947

67. The Speaker of the Rajya Sabha is
(A) Prime Minister of India
(B) Vice-President of India
. (C) Chief Justice of the High Court
(D) President of India

)_ 68. Cornea is present in the
i (A) Ear

(B) Eye

(C) Nose

(D) Stomach

'r' ' 69. Cactus is found in the
F (A) Polar Regions
(B) Desert
(C) Moon
(D) Ocean

A-15
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65. SIS 2ETey (¥ Al AIRS
. (A) 1951
(B) 1949
" (C) 1950
(D) 1948

66. ST SRR G T 9 78
(A) 25 7SR 1945
(B) 26 TS 1949

(C) 26 TR 1950
D) 15 ARG 1947

67. AT AT G =
(A) SRTST AYAIE
(B) ©RTed BoAage
(C) T IGT du RoRafs
(D) Sirss AFAS

68. =1 citey @ e SRET—
(A) I
(B) ®™
© 7=
. (D) AR

69. FIFHH-9F Saitfeis wazw
(A) GFF 9e&

(B) gt
(C) ®m

(D) g

Please Turn Over
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70. Carrots are rich in
(A) Vitamin B
(B) Vitamin C
(C). Vitamin A
(D) Vitamin D

71. The First Battle of Panipat took place in
(A) 1521
B) 1523
(©) 1525
(D) 1526

72. The average of m numbers is n* and
the average of » numbers is m*. The average of
(m + n) numbers is

(A) mn

B) m*+n®

(C) mn (m*+n?)

(D) mn (m*+ n*—mn)

73. The human body consists of
(A) 205 bones '

(B) 206 bones

(C) 204 bones

© (D) 203 bones

74. The Chemical name for common salt is
(A) Sodium Fluoride
(B) Sodium Chloride
(C) Potassium Cyanide
(D) Potash

A-16

70. st (X foulfin wd-q AgE—
(A) feoifim B
(B) febifsm C
(©) feoifim A
(D) f&BRm D

71. AR G TR RIOE A AN
(A) 1521 q
B8) 1523
(C) 1525
(D) 1526

72, m AN G 2 Q3 n Y FC T m|
(rr + 1) TRYF 51¢ F9°?
(A) mn
(B) m2+n?
(C©) mn (m*+nd)
(D) mn (m*+ n*—mn)

73. TR (02 SRS TR &
(A) 205
(B) 206
(©) 204
(D) 203

74, MRS TR TN I 25
(A) ‘Fifeam @R
@) FEifean @R
(C) “Bifn AmwiRe
(D) oM
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75. Minamata Disease is due to
(A) Sulphur
(B) Nitrogen
(C) Mercury
(D) Potassium

76. If Manish walks 20 km/hr faster, then he
will save one hour to travel a distance 600 km.
What is the nsual speed of Manish?

(A) 100 km/hr
(B) 120 km/hr
(C) 150 km/hr
(D) 160 km/hr

77. If the side of a square is increased by 30%,
then its area is increased by
(A) 9%
(B) 30%
(©) 60%
(D) 69%

78. The sum of two numbers is 2490. If 6-5% of .

one number is equal to 8-5% of the other, then the
greater number is

(A) 1079
(B) 1380
(©) 1411
(D) 1250

79. The ratio of two numbers is 3 : 4 and their
sum is 420. The greater of the two numbers is

(Aa) 175
(B) 200
(C) 240
(D) 315

]

A-17 AMRI/22

75. BRG @iteig w9 =
(A) AT
(B) =G
(C) W
(D) =i

76. WA 2t 20 BRY/G T Soren wizgE
o 600 forfiiba = @ 1 w61 st Fwicew |
T Feif oife Tve?

(A) 100 ffi/95%!
(B) 120 Bfi/9%!
(C) 150 f5f/a51
(D) 160 fHRi/a5t

77. % @ <efeweem T2 30% o w0 =,
SIA qF (FITN O i P e
(A) 9%
(B) 30%
(C) 60%
(D) 69%

78. TG TR Ao 7 2490 | 7 G FiA
6°5% S6 8-5%7 A 27, ©IgLe J67 A6
= .

(A) 1079
(B) 1380
(C) 1411
(D) 1250

79. o TR GG 3 : 4 @R ©iRF @eITE
420 | 7Y 95A g 08 A 2=
(A)-175
(B) 200
(C) 240
(D) 315

Please Turn Over
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80. The leader of the Kaivartya Revolt was
(A) Puru
(B) Divya
(C) Arjun
(D) Harsha

81. Anita can cover a certain distance in
1 hr. 24 min. by covering % of the distance at
4 km/hr. and the rest at 5 km/hr. Find the total
distance.

(A) 4km
(B) Skm
(C) 6km
(D) 7km

82. World Environment Day is observed on
(A) June 4
(B) June 5
(C) April4
(D) April 5

83. The respective ratio among the speed of a
bike,avanandalorryis 3: 5:2. The speed of the
van is 250% of the speed of the lorry which covers
360 km in 12 hours. What is the average speed of
the bike and the van together?

(A) 60 km/hr
(B) 62 km/hr
(C) 64 km/hr
(D) 63 kmv/hr

84. Onselling anarticle ata certain price, aman
gains 10%. On selling the same article at double
the price, gain per cent is

(A) 20%

(B) 100%
(C) 120%
(D) 140%

4
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80. 1796 RaEd o AW
(A) 4
B) =
(C) wTEH
O) =&

81. Sl Gt WS =g 1 751 24 fifws T
T % Wt T 4 R/ @ 9 A we
5 ffR/ a5t (et e =0 | (I TIY T

(A) 4R
(B) 5 &
(€) 6fF
(D) 7

82, e sifairat et iifere =8 & fwm—
(A) T 4
B) 715
(C) «ftts 4
(D) @ig=i 5

83. S a2, G s opi ¥ ¥ wfRT sfew
TS 32 52 2 | SRR oS Sae sifeq 250 =i
[} 12 951 360 Rl wifeers w07 | 9125 ¢ oIt g
5ifS «FCq T

(A) 60 fi/adt
(B) 62 ffi/a51
(C) 64 RRI/TT
(D) 63 /%!

84. «3® 78 w=r @b & Rie T
G ATE 10% oS I | 43 T faed wie
fafer g T "ol &S T ¢

(A) 20%
(B) 100%
(C) 120%
(D) 140%
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85. The average of 6 observations is 45.5. If
one new observation is added to the previous
observations, then the new average becomes 47.
The new observation is ‘

(A) 58
(B) 56
(C) 50
(D) 46

86. Raniganjisfamous for one of the following

minerals;
(A) Iron
(B) Mica
(C) Coal
(D) Diamond

87. One of the following is responsible for
Global Warming:

(A) Nitric oxide-
(B) Carbon dioxide
(C) Sulphuric Acid
(D) Nitric Acid

88. Which one among the following is the
largest? . '
7
A 3 ‘
11
14
3
© 7

®) 13

(B)

85. 6 B “RiawrR oI = 45-5| T <&
A e @ WA SRR @i 3 @,
G TG NG A 47 | Wow ARG 58

(A) 58
(B) 56
(©) 50
(D) 46

86. =R A Ame aifRag oiext ams
(A) @
(B) ==
(C) T
(D) g

87. i Tastarwa o ffiRe wiwaie wilt
(A) wiEET Tz
. (B) I Oiyemize
(C) A=FCHT wife
(D) 7RG =ife

88. fFafefRreafza g @b Fow ae?
7
A3

® 1;

© 3

®) 13
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89. Two vessels are filled with mixtures of milk
and water in the ratio 3 : 2 and 6 : 5 respectively.
In what ratio should these mixtures be mixed so
that the ratio of milk and water in the final mixture
becomes 4 : 37

(A) 6:13
(B) 9:14
(€) 10:11
D) 5:8

90. AcharyaPrafullaChandraRoy wasafamous
(A) Doctor
(B) Chemist
(C) Physicist
(D) Mathematician

91. Darjeeling district is famous for
(A) Coffee
~(B) Cocoa
(C) Tea
(D) Sugar

92, Akash leaves Mumbati at 6 am and reaches
Bangalore at 10 am. Prakash leaves Bangalore at
8 am and reaches Mumbai at 11.30 am. At what
time do they cross each other?

(A) 10 am
(B) 8.32 am
(C) 8.56 am
(D) 9.20 am

93, Doctor’s Day is celebrated on
(A) July 2
(B) July1
(C) June 4
(D) June 5

89. 46 g IUNFE 3:2 @2 6: 5 WAATS 7
IR TR T S IR | (I ST R Pretesfet
fiftre Tt Fgn fRe 1Y GR SEe wWgAe TR
4:3¢

(A) 6:13
(B) 9:14
(C) 10: 11
(D) 5:8

0"

90. SIoH &g vw A fBreW uee e
(A) ©&R
(B) il
(C) “mefRm
(D) o=

/

91. WifRER ot aF T e —
(A) 3%
(B) TS
© ®
D) bR

| 92, S ST 651 FIL, (AT FGA T I
1051 IR (DT | i 51 §oF T
(oS 2GR0 HIE 11,30 G 3R e | F

G Ol AT AT SO T ?

(A) 10 am
(B) 8.32am
(C) 8.56am
(D) 9.20 am

93, i e lifere 23
(A) TFIR 2
(B) wFiR 1
(C) T 4
(D) & 5

e
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94, Milk is a rich source of
" (A) Vitamin C
*  (B) Calcium

(C) Potash

(D) Carbide

95. A 130 m long train crosses a bridge in
30 seconds at45 km/hr. The length of the bridge is
(A} 200 m
(B) 225m
(C) 245m
(D) 250 m

96. 5% income of A is equal to 15% income of
B and 10% income of B is equal to the 20% income
of C. If the income of C is Rs. 2,000, what is the
total income of A, B and C?

(A) Rs. 14,000
(B) Rs. 16,000
(C) Rs. 18,000
(D) Rs. 1,24,000

97. Blood has one of the following groups:
(A M
(B) N
€ O
(D) P

98. The ratio of cost price and selling price of
an article is 20 : 21. What is the profit per cent on
it?

(A) 5%
B) 5:5%
(C) 6%
(D) 6:25%

A-21 AMRI/22

94. 74 FEERS Aot TE—
(A) febifm C
(B) Wttt
(C) =fore
(D) wiZe

95. g3fb 130 filbtT A G afs wom 45 B
G031 30 FTERCe Il G wifeers = | grgfbe tnids
&

(A) 200 fGig
(B) 225 fib
(C) 245 fBR
(D) 250 =5

96. A-4F 5% S B=49 15% ST AW @2
B-¢1 10% ¥ C-97 20% S0tad 79w | 1% C-93

I 2,000 5igt 28, O A, B @32 C-97 (If6 &
FTeY

(A) 14,000 Bt
(B) 16,000 5w
(C) 18,000 Bt
(D) 1,24,000 Bt

97. Fwffie 96 wog oot ¢
A M
(B) N
© o
D) P

98. b (T e « 32 Reraaen oreire
251 20 : 21 | O AF 89T ST *eIg] TS ¢
(A) 5%
(B) 55%
(C) 6%
(D) 625%

Please Turn Over
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99, The Father of the Indian Constitution was 99, e TR TS BT B «(fafes
(A) Nehru | (A) G '
(B) M.N.Roy - ! (B) €. 9. A
(C) B.R. Ambedkar

© R =3, wirwE

R
@) C.R. Das (D) B W=, 7

100. The Saptaratha Temples at Mahabalipuram 100. TRRAEEE Aead v Ffer e

were built by the . (A) 5/ 04
(A) Cholas (B) B T
(B) Chalukyas
(C) Pallavas - (©) =
(D) Pandyas (D) #iray 34

www.kajkarmo.com



BMRI/22

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO.
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L

Time allowed : 13 hours
Full marks : 100

Answer all the questions.
Questions are of equal value.

DI NI -7 i iasediosno sontbonsi Roll No.:

2188557

Signature of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the OMR Sheet supplied for the purpose.

3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answer. 0.25 mark for each wrong answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. The selling price of an article is Rs. 1920
and the discount given is 4%. The marked price of
the article is

(A) Rs. 2400
(B) Rs. 2000
(C) Rs. 1600
(D) Rs. 1200

2. APJ Abdul Kalam was a famous
(A) artist
(B) scientist
(C) chemist
(D) actor

3. Ascorbic Acid is the scientific name for
(A) Protein o
(B) Carbohydrate
(C) Vitamin C
(D) VitaminD

4. The Right to Speech is considered as
" (A) Fundamental Duty

(B) Fundamental Right

(C) Fundamental Policy

(D) Sacred Right

5. The difference between the simple and
compound interest on a certain sum of money for
2 years at 4% per annum is Re. 1. Find the sum.

(A) Rs. 630
(B) Rs. 620
(C) Rs. 625

(D) Rs. 635

A2

1. CPIT @16 TH FRFED T 1920 BT @,
4% THITS orent g8 | Tfa difiEn = :
(A) 2400 5t
(B) 20005
(C) 1600 B
(D) 1200 5Ret

2. IS IR A BT G TS

(A) &

(B) @wifes QoW
~ (C) FmRw f’l‘

D) Hferet

i

3. WEEfs wsiba tamie «ferl Ascorbic
Acid
(A) caifbs
(B) =i
(C) f&Bifim C
(D) febfm D

4. A TR SEFE T w@sfe
(A) Gnfa wifig
B) (i afEsm
(C) cifers A
(D) k@ wfiwg

5. TR i3I BIoPTe 2 e IR 4% Qi T

8 b I T TG 2 1 51l | B St
fefa et

(A) 6305
(B) 620Gt
(C) 625t
(D) 635 G
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6. 1t 39— _* _then find the value of *.
* 1
121
2
\
25
2

4
®) 25

© 4
D) 25

(A)

7. The ratio of the quantities of a acid and
water in a mixture is 1 : 3. If 5 litres of acid is
further added to the mixture, the new ratiobecomes
1: 2, the quantity of new mixture in litres'is

(A) 32
(B) 40
(C) 42
" (D) 45

8. The upper limit for West Bengal Student
Credit Card Scheme is

(A) Rs. 20 lakhs
(B) Rs. 15 lakhs
(C) Rs. 10 lakhs
(D) Rs. 5 lakhs

9. 75% of anumber when added to 75 is equal
to the number. The number is

(A) 150
(B) 200
(C) 225
(D) 300

10. The sum of four consecutive even numbers
is 748. The smallest among them is

(A) 188
(B) 186
(C) 184
(D) 174

BMRI/22

. C i
6. nﬁS_:):_*_ T, O g I e
12%

: 25
(A) 2

4
(B)E

© 4
D) 25

7. Wit ¢ TEE HAffaE Fees smere
1: 313 Sedfors 5 o <ife Siam ast w1
27, g e A 2 1 : 2, oA 7gw fedfoe
foioica «fdsiel =@
(A) 32
(B) 40
© 42
(D) 45

8. ST (T IH0EG (ZFfOE T RITH SwsS
s e FR 3w =
(A) 20 % it
(B) 15 &% Bl
(C) 1077 it
(D) 5 %% Gl

9. (I TR 75% T4 75-97 F0H Qo A
77, of Wb e = | SR =
(A) 150
(B) 200
(C) 225
(D) 300

10. 17 2 5l @T WY TR 748 | O
TG (R AT 25
(A) 188
(B) 186
(C) 184
(D) 174

Please Turn Over

www.kajkarmo.com




BMRI/22

“4157A, Band C together can complete a piece of
work in 30 minutes. A and B together can complete
the same work in 50 minutes. C alone can complete
the work in

(A) 60 minutes
(B) 80 minutes
(C) 150 minutes
(D) 75 minutes

12. The recent UNESCO hentage Status has
been given to

(A) Ugadi

(B) Durga Puja

(C) Bihu

(D) Bhadu Song R

13. Pipe A and B can fill a tank in 10 hours and
15 hours respectively. In how much time will they
together fill the tank?

A) 1221 hrs.
(A) 12 hrs

(B) 6 hrs.
(C) 5 hrs.
(D) 4hrs.

14. The Jaldapara Reserve Forest is located in
(A) Assam.
(B) Odisha
(C) West Bengal
(D) Nagaland

* 15. The Nobel Prize for Literature in 2023 has
been awarded to

(A) James Cameron
(B) Orhan Pamuk
(C) Jon Fosse

(D) Ben Okri

A-4 :

11. A, B ¢ C 99(d 3fB Fier 30 BifRG oig

wmwawm@wﬁ?soﬁﬁmmwnc
! FIEB 57 T

(A) 60 Rfee
(B) 80 fifeB
(C) 150 A
D) 75 G

12. 7S WHE'T o (7T @ SoRBE
heritage S&1 gfed 27

(A) Botifi
(B) 75ff At
© f=

(D) = At

13. i35t A =2 B, 10 951 @ 15 ¥ AT

4 By vﬁmlwtﬂm?ﬁﬂwmﬁ =pef
AL

(A) 12% B!
(B) 6 9%
(C) 59%I
(D) 495

14. SEISIG! SRR @ A SRS
(A) ==
(B) afE=
(C) #fswast
(D) i -

15. 2023 et AlfRrs) Rl @ieee Jasm e o 8
(A) (TP FIGER
(B) TR I
(C) T T
D) @ R
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16. 60% students of a school are girls. If the
total number of girls in the school is 690, then the
total number of students in the school is

(A) 1150
(B) 1100
(C) 1200 .
(D) 1050

¢ 17. Sea Salt contains

b (A) Protein
(B) Iodine

L (C) Nicotine
(D) Vitamin

18. The Grant of Diwani was given to the
English East India Company in

(A) 1764
(B) 1765
(C) 17711
(D) 1772

L[? 19. ThesupremeinsqranceregulatorofIndiais
the = '
L (A) IRDA
(B) PFDA
(C) CRIDA
(D) CRISIL

20. The Palk Strait separates India from
(A) Indonesia

| (B) Sri Lanka

(C) Thailand

(D) Maldives

TERa AR W
(A) 1150
(B) 1100
(C) 1200
(D) 1050

(A) califoat
(B) STAIGA
(C) Fesifea
(D) febifm

HiE aAnl F9 W
(A) 1764
(B) 1765
(© 1771
(D) 1772

(A) IRDA
(B) PFDA
(C) CRIDA
(D) CRISIL

fff s
(A) TrwTEmEl
(B) st
(C) e
(D) SieTarst
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16. A AR WARATE 60% 2R | SR
WNT?@OWE@QIW,W@?W ey

17. o weet @ e sl em .

18, oremifaa W AT 396 G (I &

19, SiFearE % A FEET AET W9 ==

20. G SHii) SIAGIEG AH @ (D R
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21. The Portuguese were ousted from Bengal 2L IR (T gl R srespeface
by Teare Faw ‘
(A) Mir Jumla (A ﬁﬂiﬂﬁ
(B} Shaista Khan (B; s 4l
(C) Mir Qasim - %' 5
(D) Faiz Khan (C?) i
(D) TG A
22. The Hindu College was foundedintheyear . | 22, firg werer =i et a1 et
(A) 1818 ' , (A) 1818
(B) 1817 (B) 1817
(C) 1819 (C) 1819
(D) 1820 (D) 1820
23. 1f78 is divided into three parts which are in 23. Tl 78 WA Bl wcot Rew =31 4,
theratiol:% :%,thenmjddlepartis WW‘?{T@M% :é,w&mﬁﬁﬁiﬂ -
1 1
A) 9~ 1
Ay 9~ (A) 93
(B) 13 (B) 13
1 1
o) 17- 1
© 3 (€ 17 3
i 1
D) 182 1
. (D) 183 (D) 187

24. The Capital of British India was shifted 24. AP etreara e @ e vt

from Calcutta to Delhi in

(e fufere Zmefee o
(A) 1910 (A) 1910
(B) 1911 (B) 1911
(©) 1912 (©) 1912
(D) 1913 (D) 1913
25. TheFirst General Elections were conducted 25, R ©iFred =N F«Ee F<ion =1 @ e
in Independent India in (A) 1951
(A) 1951 (B) 1952
(B) 1952 (C) 1953
(C) 1953 (D) 1954
(D) 1954

-

B
- e . &
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26. A train 280 m long is moving at a speed of
60 km/hr. What is the time taken by the train to
cross a platform 220 m long?

(A) 45 sec
(B) 30sec
(C) 40sec
(D) 35sec

27. Seismograph is used for measuring
(A) Tsunami
(B) Earth Quake
(C) Volcanic Eruption
(D) Cyclone

28. A sum of money at simple interest amounts
to Rs. 1350 in 5 years and to Rs. 1620 in 8 years.
The sum of money is

(A) Rs.700
(B) Rs. 800
() Rs. 1000
(D) Rs. 900

29, Pratapaditya was the ruler of
(A) Tharkhand
{B) Jessore
(C) Barisal
(D) Natore

30, The Hirakud Dam is situated on the river
(A) Godavari
(B) Krishna
{C) Cauvery
. (D) Mahanadi

L X
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26. 280 5 TE 9o G 60 Fol/<e8! ot
sifee | 220 TR e O3l e oy e
AT TS T SN ?
(A) 45 CTTS
(B) 30 CTFS
(©) 40 CTTS
(D) 35 TS

27, FriwteT TE0 (1 e o JIT° &
(A) TR TodRRe
(B) €Fiw A
(C) Tesir®
(D) T g FroTi

28, FE O (I B 5 = 1350 Biet 77 8
8 =7 1620 Breet 7 o | €3 Tl At =
(A) 700 Bt
(B) 800 Biwst
(C) 1000 Bt
(D) 900 Bl

29, efsielire] (X ANETH T et
(A) AeYe
(B) T
(C) Jfe
(D) FBE

30, fmigm T4 (1 A @={a (GT TE

(A) (AMRK
(B) $=
(C) TR
(D) T2
Please Turn Over
4
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31. Neel Darpan was written by
(A) Rajanikanta Das
(B) Dinabandhu Mitra
(C) Mukunda Das
(D) Chittaranjan Das

32. The Earth consists of three-fourth water
and one-fourth land, which is

(A) false

(B) true

(C) partly true

(D) not scientifically proved

33. The 25th term of the series 2, 5, 10, 17
20, ... 18

(A) 626
(B) 323
(C) 424
(D) 525

’

34. The present Secretary-General of UNO is
(A) Kofi Annan
(B) Butros Butros Ghali
(C) Antonio Guterres
(D) None of the above

35. A man bought 20 dozen eggs for Rs. 720.
What should be the selling price of each egg ifhe
wants to make a profit of 20%?

(A) Rs. 325
(B) Rs. 3-30
(C) Rs. 3-60
(D) Rs.3-50

31, Sewefd 8fq T
(A) FENHE T
(B) Mg g
(C) IFw =
(D) foeagm w1

32. “sfAR R ©let o @R 4T O T, B
e _
(A) P9y
(B) oy
(C) =iz ey
(D) @I i R e

33. 2,5, 10, 17, 26, ... e 259w S =
(A) 626
(B) 323
(C) 424
(D) 525

34. TS YA TPABR ZE
(A) @i =M
(B) TBOT I&M e
(C) =cifve wrss
(D) T (T3 7

35, 720 53R «F A 20 wow % Rmfe | 9f

TED 20% =T coits by w3 2ol R e
Fo?
(A) 3-25 5t
(B) 3-30 Bl
(C) 3-60 it
(D) 3-50 Bt
5 A
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36. In how many years will a sum of Rs, 3000
yield a simple interest of Rs. 1080 at 12% per
annum?

(A) 3
1
B) 2 2
(©) 2
1
(D) 32

37, Anamount will double itself in 16 years at
a certain rate of simple interest per annum. The
rate of interest per annum is

(A) 10%
lg,
®) 6%
©) 8%
(D) 12%%

38. The Shanti Swarup Bhatnagar Award is
given for

(A) Performing Arts

(B) Peace

(C) Science and Technology
(D) Social Service

39, Two numbers are in the ratio 3 ; 5 and their
LCM is 225. The smaller number is

(A) 45
(B) 60
©) 15
) 90

40. The UNESCO Award for Kanyasree had

A9

BMRI/22

36. % T2 3000 B RS 12% T T
37 1080 Gisl R ?
(A) 3

1
® 2,
(©) 2
1
@) 3;

37. 3 e 7 RS 2 16 T2 G Bt
% e 21, AT AT AP
(A) 10%

(B) 6%%

(©) 8%
(D) 12%%

38. *Iif% T SHAT [THF I T SN A
(A) Pt
(B) %
(C) R e 23f&
(D) % @l

39, b FALYIH SRS W 3 1 5 G OIS AL,
=¥ 225 | (G 741 28
(A) 45
(B) 60
(C) 75
(D) 90

40. T #4Fw SomeE FEERY TR

been given to BOEICE'T AT (AT JFFC TN
((g; ?nc‘ll.llre;I P;adesh (A) SERAT
amil Nadu S
(C) West Bengal ®) W
(D) Assam ©
(D) =HE
Please Turn Over
§ q «
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“41. 20% loss on selling price is what per cent
loss on the cost price?

(A) 25%
(B) 15%

©) 16%%

D) 16%%

42, The last and the tenth Guru of the Sikhs had
been )

(A) Guru Teg Bahadur
(B) Guru Hargovind
(©) Guru Gobind Singh
(D) Guru Har Kishan

43. If the cost of 18 chairs is equal to selling
price of 16 chairs, then the gain percentage is
(A) 12-5%
(B) 13%
©) 13:5%
D) 14%

44. In an examination, 93% of students passed
and 259 failed. The total number of students -
appearing at the examination was

(A) 3700
(B) 3850
(C) 800
(D) 1000

45. The Doctrine of Lapse was introduced by
(A) Lord Cornwallis
(B) Lord Wellesley
(C) Lord Dalhousie
(D) Lord Clive

o~

A-10

41. REFT Bom 209% = 20w, e 1
Bolg T *olet S e

(A) 25%
(B) 15% !

© 16%%

D) 16%%

42, P e e @R e oF Rem
(A) & (oot R o
(B) &% Tusiifew
(C) % ooilfa™ B
(D) % 21 i

43. I 18% cAEE wAwen 160 GunEw
TRt TR 2w, ©4 =i Aol 29
(A) 125%
(B) 13%
(O 13-5%
(D) 14%

4. 93 AIFE, 93% TG S IR 4R 259
T Bl (T AR 6% S (N Feed wig
Beffye e e

. (A) 3700
(B) 3850
(C) 800
(D) 1000

R -

45. Tt R e R Sers Bew
(A) =€ =i
(B) =16 GEET
(C) =76 Tei@f
(D) =€ Fiz®

» ?
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of Ais
(A) 6
®) 9
o3
(D) 1

47. If the ratio of the cost price and the sale
price of an article be 5 : 6, the percentage of gain
is

(A) 25%
(B) 20%
() 18%
(D) 15%

48. The Sreerampore Trio comprised of
(A) Clive-Watson-Watts
(B) Carey-Marshman-Ward
(C) Lal-Bal-Pal
(D) Hastings-Cornwallis-Shore

49, If% of A = 75% of B = 06 of C, then
A:B:Cis

(A) 9:5:4

(B) 9:4:5

(C) 4:5:9

D) 5:9:4

50. The Small Pox Vaccine was invented by

(A) Joseph Lister
(B) Ronald Ross
(C) Edward Jenner
(D) Jonas Salk

{ A

. 46. Tf738A6A isdivisible by 11, then the value

BMRI22

46. a% 738A6A FRUIB 11 T Rretey 28, o4
A9 A TH
(A) 6
B) 9
©) 3
D) 1

47, = I 987 FHED ¢ REmers s
M 5 : 6, T FICoT ST TN
(A) 25%
(B) 20%
(C) 18%"
(D) 15%

48, Sarsefz oH 1 I+ B
(A) FiRe-eToT-exsA
(B) HR-=-aqG
(C) F--A=
(D) EFSE-THeFEF-CN

49, T A-a7 % = B4 75% = C~4q 06, O

A:B:CH™H
(A) 9:5:4
(B) 9:4:5
(C) 4:5:9
D) 5:9:4

50, .5 en Ber wRewcea T =

(A) @eE TP
(B) (@IS T
(C) GBeNE (T
(D) CSAP 7
Please Turn Over
k
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51. Two successive discounts of 10%, 20% are
given on the cost price of an article. Selling price
now is Rs. 720. Cost price of the article is

(A) Rs. 1000
(B) Rs. 1200
(C) Rs. 900
(D) Rs. 1100

52. The ratio between two numbers is 2 : 3. If
each number is increased by 4, the ratio between
them becomes 5 : 7. The difference between the
numbers is

(A) 8
(B) 6
© 2
D) 4

53. If the numerator of a fraction is increased
by 20% and the denominator is decreased by 10%,

16
the value of the fraction is 21 - The original

fraction is

(A)
(B)
©

W w b s - ta

(D)

54. The book Arthashastra was written by

A-12

51, (P TG FEEDT ©HF VR A
e IS 10% @ 20% fire €% < RmEs 78 720
DIl | €% I T T

(A) 1000 it
(B) 1200 Bt
(C) 900 i
(D) 1100 St

52, g HRAASTANT2: 3 |9 S RY 4 T
% 11T, S S SAT T 5 ¢ 7 mwviﬁww?
=

(A) 8
(B) 6
(C) 2
D) 4

53, T <ol SR 71 20% & AW 4R |
16
10% B =1, S{T SaAba s e o7 1o
£yl

(A)
®)
©

W N 9ls ]

(D)

54. witg agbe e TEw

(A) Baudhayana (A) QU
(C) Panini
L (C) =t
{D) Patanjali :
Y (D) e )
55. The Aravalli Mountains are located in 55. SR SN @I SRFS
(A) Jharkhand (A) IrTYe
(B) Rajasthan :
(B) TrergH
{C) Afghanistan
(D) Bihar (©) St
" (D) R
i A »
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56. Discovery of India was the work of
(A) Mahatma Gandhi
(B) Kalidas
(C) Jawaharlal Nehru
(D) Badshah Khan

v 57. The volumes of two cylinders are in the
ratio 3 : 8 and their heights are in the ratio 2 : 3.
Then the ratio of their radius is

(A) 3:8
(B) 4:3
(C) 2:3
D) 3:4

58. % of 64 + 30% of 7 = 121
(A) 270
B) 250
(©) 125
(D) 225

59, The two west-flowing rivers of India are
{A) Krishna and Godavari
(B) Brahmaputra and Ganga
(C) Sone and Chambal
(D) Narmada and Tapti

60. Iftheradius of a circle is increased by 10%,
then percentage of increase of its area is

(A) 17
(B) 21
© 12
D) 15

] |

A-13 BMRI/22
56. ‘ToTrel o A’ Ay @T4T T W
(A) R ol
(B) Fifem
(C) WO T
(D) Ttz A

57. 9 Pt SRreEs SRS 3 ;8 9.
O SO SO Zh 2 1 3 | SR TR S sie
(A) 3:8
B) 4:3
(€ 2:3
(D) 3:4

58. 64-9% % + 2% 30% = 121
(A) 270
(B) 250
(©) 125
(D) 225

59. Seg 75 AAfow SfeYA A N =
(A) I8 (IR
(B) Telm @ 1ot
(C) 919 @ BF
D) 0 7R ol

60. I @GN JoE G 10% IF A, ©
qaibe cragE Jfaa ot &
(A) 17
(B) 21
© 12
(D) 15

Please Turn Over
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61. Insulin is secreted from
(A) Liver
(B) Pancreas
(C) Stomach
(D) Brain.

62. The value of xwhen5% of ~./2x is0-01 will
be

(A) 003
(B) 0-02
(C). 001
. (D) 0:05

63. Divide Rs.450among A, B and C such that
A:B=2:3andB:C=6:5.Share of Cis
(A) Rs.90 . o
(B) Rs. 100
(C) Rs. 150
(D) Rs. 120

64. If ab, bc, x and ¢2 are in proporticn, then
find the x, if none of these is equal to zero.
(A) a’c
(B) c2a
(©) ac
(D) a?c?

65. The difference of 5 .76 and 23 is

A-14

61. Tfem aw @ we (S Rgpe @
(A) e "
(B) ~pwieram
(C) =ArFgatt
(D) s

62. T 2 x 99 5% W 0-01, A - IT NI
(A) 003
(B) 0:02
(C) 001
(D) 005

63. 450D A, B 3% C-97 W0 oo S5
TS YITA:B=2:398B:C=6:51C¥
UK

(A) 90 Vit
(B) 100G
(C) 150 Bt
(D) 120 5=

64. AW ab, be, x'S c2 SIS AT, T x~T7 T

ez T, @A @I H4iB Xy w3 |
(A) a2¢
(B) c’a
(C) ac
(D) a2

65. 5-76 @ 2-3-99 GG ]

(A) 2-54 (A) 2-54
(B) 373 (B) 3-73
(© 346 () 3-46
(D) 3-43 (D) 3-43
i A 4 i
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66. The United Nations Day is celebrated every 66. AFRT e lifers =7 feqmraz

year on (A) 25 SERF
(A) October 25 : .

(B) October 24 . ®) 24 )
(C) September 5 ©) 5 U
(D) July 4 (D) 4%FR
! 67. Find the last term in the following numbers: 67. FmfEis mapelm er omb frlw 3@t s
230, 246, 271, 307, ? 230, 246, 271, 307, ?

- (A) 412 - (A) 412 X
(B) 356 (B) 356 <

' (O 518 (C) 518
(D) 612 D) 612

_68. The vaccine for Kala-azar was invented by 68. I oo wifkwiEEg s <&
(A) Amalesh Tripathi (A) SFE Renf3
(B) Upendranath Brahmachari (B) Srvigmie Fmiat
(C) Hargobind Khorana

) (D) Shanti Swarup Bhatnagar (C) =i caf

(D) =% ==t Sl
69. Megastheneé was the author of 69. (i =t e awgm A
(A) Milinda Panho (A) fifer sitmcl
(B) Indika (B) ‘2
(C) Periplus
C <
(D) Tarikh (©) =iRam
(D) eiff
|
70. A manbuyssome articles atRs. Pperdozen 70, ¢ IS 9T vow GFF P 5T @w a3
P .
and sells them at Rs. 0 per piece. His profit Gl & %W%WIWW%N
per cent is . (A) 30%
(A) 30% B) 40%
®B) 40% (C) 50%
(©) 50% ‘ (D) 60%
D) 50%

Please Turn Over
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71. Who was killed by the ‘Deccan Ulcer’?
(A) Akbar
(B) Babur
(C) Aurangzeb
(D) Shah Jahan

1 1
72. Th t f(—) (——
& square oot of | X 19

11

25
121

J

) is
&) '
®)
©

o

=R RR-T=td

73. Kabuliyat and Patta were introduced by
(A) Akbar
(B) Sher Shah
(C) Babur
(D) Aurangzeb

74. A man sells two chairs at Rs. 120 each and
by doing so gains 25% on one chairand losses 25%
on the other, His loss on the whole in Rs. is

(A) 20
(B) 16
© 25
) 30

75. The single discount, which is equivalent to
three successive discounts of 25%, 20% and 10%
is

(A) 46%
B) 54%
(C) 55%
(D) 45%

71 WS w9 @ ST T i
e ? ‘
(A) R
(B) q59
(C) =eaTE
(D) " e

)

(A)

“t 3

25

121

1

7. ( J«aa o =
(B)
©
®)

(3o Rl Y e

73. TR S HAG I (T X bie] A fof
e
(A) ST
(B) iR
(C) I
(D) SNEIET

74. &% e 120 B {6 (GRS erori i
T G G (AT 25% FS P 8 T60® 25%
=S o | @ o Fo @ GrFm)

(A) 20 '
(B) 16
(C) 25
(D) 30

75. <3 fEqees, ot fealt e et
25%, 20% 9% 10%-97 5 27, O T
(A) 46%
(B) 54%
(C) 55%
(D) 45%

- —
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76. If the cost price of 10 articles is equal to the
selling price of 16 articles, then the loss per cent is
(A) 375%

(B) 30%
(C) 42-5%

D) 45%

77. One Horse Power is equivalent to
(A) 745 watts
(B) 746 watts
(C) 750 watts
(D) 751 watts

78. ONGC is involved in
(A) Space Research
(B) Medicines
(C) 0il Exploration
(D) Defence

79. A and B together can do a piece of work in
12 days while B alone can finish it in 30 days. A
alone can finish the work in

(A) 15days
(B) 18 days -
(C) 20 days
(D) 25 days

80, What is the smallest number that must be
added to 1780 to make it perfect square?

(A) 39
(B) 69
(©) 59
(D) 49

A-17
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76. 10T <8 wFEy I 160 399 Rezngens
FA T, O3 *eqd| Fho W )
(A) 37-5%
(B) 30%
(C) 42-5%
(D) 45%

77, O ST T
(A) 745 watts
(B) 746 waits
(C) 750 watts
(D) 751 watts

78. ONGC #23ilb @ Fited 7 g&
(A) T STl
(B) o34
(C) 0o pTEA
(D) afszss

79. A8 B 3B et 12 e 902 (R B G163
FrEB 30 M R TE | A 93] €2 G o W
(A) 15 fe=

(B) 18 =

(C) 20T

(D) 25 faw

80, 1780 RGiBR AN THTF TS @S FAE
TR @3 el e gae

(A) 39

(B) 69

(C) 59

(D) 49
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81. The Prime Minister of UK is
(A) David Cameron
(B) Boris Johnson
(C) Rishi Sunak
(D) Teresa May

82. Beri-Beri disease is on account of the
deficiency of

(A) Vitamin A
(B) Vitamin B
{C) Vitamin C
(D) Vitamin D

83. Bill Gates and Paul Allen are associated
with one of the following institutions:

(A) Google
(B) Apple
(C) Microsoft
(D) IBM

84. Ifa * b =a?, then the value of 5 * 3 is
(A) 125
B) 243
(C) 53
(D) 15

85. The Calcutta Medical College was
established in the year

A-18

81. TSAET S e
(A) (oS FF
(B) I T
(C) 4R ue
(D) G @

82. il ot welr Qfe-ER @
Tes :
(A) TeBifim A
(B) fGifsw B
(C) feBifim C
(D) feeiim D

83. e (5651 O3 ofF1 S 9| T (T AEo
L T 8
(A) Google
(B) Apple
. (C) Microsoft
(D) IBM

84, T a* b=aP W, T4 5 * 39T AT W
(A) 125 '
(B) 243
(C) 53
D) 15

85. Tt afbwm FoTe aféfe wafe @
w .

(A) 1834 (A) 1834
(B) 1835 ®) 1835
(C) 1838 (C) 1838
(D) 1839 (D) 1839
1 Y | i i

1
J

e
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86. By sclling an article for Rs. 1400 a man lost

30%. At what amount should he have sold it to gain

30%?
(A) Rs.2600
(B). Rs. 1500
(C) Rs. 1800
(D) Rs. 2000

"87. One of the following countries is not a
permanent member of the United Nations Security
Council.

(A) USA
(B} England
(C) China
(D) Japan

(2-3)> -0-027
(2-3)% +0-69+0-09

88. Whatisthevalueof

(A) 03
(B) 23
1.
(D) 2

89. The Arabari Model for Forest Conservation
was undertaken in the state of

(A) Qdisha
(B) West Bengal
(C) Kerala
(D) Sikkim

90, [%) thof (%) thof a numberis 240, What

is the number?
(A) 12
(B) 1200
» (C) 48
(D) 4800

A-19 BMRI1/22

86. ¥ I9 1400 Trow F Tatn oo Tfew
30% S TElRe | F© b <@l RiF sam @
iR 30% e T ? '

(A) 2600 B '
(B) 1500 5=t
(C) 180075
D) 2000 St

87. FflRe AR agmHcT Faee A
I T |
(A) TR Ty
- (B) e
() BW
(D) et

" (2:3 —0-027

(2-3) +0-69+0-09
(A) 03

(B) 23

© 1

) 2

88. - T o7

89, iR (v MnfRe Il e
T SRR &
(A) @it
(B) iFsaa=
(C) !
(D) Fifém

90. (RIS (3)4@- [—1—) s A 240 T,

4 10
@ MYTFEr
(A) 12
(B) 1200
©) 48
(D) 4800
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91. The Reserve Bank of India was founded in
(A) 1935
(B) 1934
(C) 1936
(D) 1937

92. Loktak Lake is located in the state of
(A) Sikkim
(B) Manipur
(C) Nagaland
(D) Mizoram

93, A mixture of 40 litres of milk and water
contains 10% of water. How much water must be
added to make the water 20% in the new mixture?

(A) 10 litres
(B) 7 litres
(C) 5 litres
(D) 3 litres

94. The speed of abusis 72 km/hr. The distance
covered by the bus in 5 seconds is

(A) 50m
(B) 745 m
(C) 60 m
(D) 100 m

95. Bagha Jatin was the nickname of
(A) Narendranath Bhattacharya
(B) Jyotindranath Mukherjee
(C) Troilokka Maharaj
(D) Bipin Chandra Pal

91. wiAres frers oz afefre =
(A) 1935
(B) 1934
(C) 1936
(D) 1937

92. (FIIFHIE ZH (X AN SAZS
(A) i
(B) sz
(C) FNeTS
(D) foreram

93, WY @ TEa @b 40 v frite 10% &=
it | B oA T q@tet 30 T e 20% e
QI ?

(A) 10 f&dr
(B) 7 &0
(C) 5 &
(D) 3 fibra

94. 36 Ao e = 72 BFfi/as b 5
GRS (@ Y ST FAE—
(A) 50 filor=
(B) 745 fior
(C) 60 fibra
(D) 100 fGra

95, fAnfelRe wAIT RS T +ffoe
forem
(A) TREIY SR
(B) cemifommial st
(C) At A
(D) fRferm v =&
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96. Thelargestnumber among 2-6,2-066,2-66,

2-08 is
(A) 26
(B) 266
(C) 2066
(D) 2:08

" 97. The Asiatic Society of Calcutta was founded
in the year

(A) 1784

(B) 1785

(C) 1786

D) 1792

98. The filament of an electric bulb is made of
(A) Hydrogen
(B) Tungsten
(C) Halogen
(D) Mercury

99, If90% of A=30% of Band B=x% of A,
then the value of x is

(A) 300
(B) 800
(C}y 700
(D) 400

100. A boat can run 13 km/hr in still water and
speed of current is 4 kin/hr. In how many hours the
boat will cover 68 km downstreamn?

(A) 2
B) 3
5
(D) 4

A-21
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96. 2:6, 2:066, 2-66, 2-08 FtefE T T
RN T
(A) 26
(B) 266
(C) 2066
(D) 2-08

97. Tewrel Fe aFalbE GG @ e 2fefe
= .
(A) 1784
B) 1785
(C) 1786
(D) 1792

98, Tagios qeas ReearS c diga tof e =&
(A) ZErgitem
(B) Bicwoe
(C) e
(D) =iram

99. 3ff A-97 90% = B~47 30% R B = A-49
x% T, T x99 S 7]
(A) 300
(B) 800
(C) 700
(D) 400

100, <% (MFE B Afs e 13 FR/a%i g
F I o = 4 R/ @ner e
TG 68 B @re T 996! Fam =lsE 2

(A) 2
(B) 3
©) 5
D) 4
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INSTRUCTIONS

- Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the OMR Sheet supplied for the purpose.

3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encolded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each wrong answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. AandB start from the same place and travel
in the same direction, B starting 2 hours after A. If
A travels 40 km/h and B travels at 50km/h, how far
will they have travelled when B overtakes A?

(A) 400 km
(B) 200 km
(C) 500 km
(D) 100 km

2. If % of my pocket money is ¥ 60, then the

total pocket money I received was
(A) T 100
(B) ¥120
(C) X150
(D) ¥ 180

3. Slavery was abolished in India by an Actin
(A) 1829
(B) 1833
(C) 1843
(D) 1858

4. What is the primary factor that determines
the pitch (frequency) of a sound produced by a
musical instrument?

(A) Volume of the instrument
(B) Length of the vibrating part

(C) Material from which the instrument is
made

(D) The instrument player’s skill level

5. An 12 metre flag pole casts a shadow

15 metre long. If a flag pole is 20 metre long then

the length of the shadow be
(A) 25 metre
(B) 60 metre
(C) 30 metre
(D) 22 metre

A2

1. ‘A 9% B G2 @Al (A0 @R 33 70 Tt
oF T 8 B TG ©F W A-9F TG F WA
2%t +it 13 A~97 SISt 40 R6fi/9%51 @3k B-a3
STt 50 T/ 91 27, &3 T 199 %@ B, A-@
7w T e

(A) 400 f&™
(B) 200 f&f
(©) 500 =&
(D) 100 f&f

ML T}
2. f% A QOB % Tt 7 6051, ST

iy QYT HiTATRE
(A) 100 Brt
(B) 120 o=t
(C) 150 5= _
(D). 180 Bil

3. (TN A WA WY SRS Tl
feg =0
(A) 1829
(B) 1833
(C) 1843
(D) 1858

4, 6 TG TR Sesiire Gt Jowm P
et fdiae @ @i e wizg e
(A) TES S
(B) ™ifire wiseeta orff
(C) @AM (4T TF COfF TR
(D) AR (AT THOR T

5. ¥ 12 o &1 #oems 15 Fom o=t
m&ﬁmmﬁwﬁ?wmﬁmmm
RIS ACIERARIEA G o

(A) 25 o
(B) 60 o=
(©) 30 fiom
(DY 22 f6R
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6. RTE Act was implemented in India with
effect from

(A) 1st April, 2009
(B) 1st May, 2010
" (C) 1st April, 2008
(D) 1st April, 2010

7. The leaf size of vegetation is a function
of—

(A) Temperature

(B) Moisture Availability .

(C) Altitude

(D) Temperature & Moisture both

LI |d

8. The President of the Swaraj Party was
(A) Motilal Nehru
(B) M. M. Malavya
(C) Chittaranjan Das
(D) M. R. Jayakar

9. Ata certain school, there are 320 boys and

180 girls. The average absenteeism rate is 6%%
for boys and 8%% for girls. What is the average

absenteeism rate-overall for the school?
(A) 8%

B) 7—:1;-%
©C) 7%

1
@) 65%

10. Brahmaputrarisesin Tibetwhereitisknown
as

(A) Tsangpo
(B) Megna
(C) Rakasthal
(D) Yamuna

A3 CMRI/22

(A) 1st April, 2009
(B) 1st May, 2010
(C) 1st April, 2008
(D) 1st April, 2010

7. eﬂavfmm ATSIT T 2oie T9—
(A) St
B) WHS! Al
(C) Twel
(D) SRE 9k IS ToTg

8. Fare SAfbe e’ e
(A) sfS=e Fozs
(B) @3, G, JA{eTG
(C) foeaem wA
(D) 99, O, THEH

-

9, 36 S I, 320 T ITF ¥R 180@ﬂ
WW|WWW={%€H®6 —%

R AfERITE 8 % | TR %wﬂﬁf@m
TI¢

S

(A) 8%
|
(B) 75%
(C) 7%

D) 6%%

10. ILIT Sesffege fore, GRIE b @
I sAfRfes—

(A) TR
(B) s«
(C) P

(D) gt

Please Turn Over
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11. The compound interest for ¥ 4,800 for
2 years at 5% per annum compounded annually is

(A) T492
(B) ¥5,292
(C) T229
(D) % 5,390

12. The Indian Fisheries Act was enacted on
(A) 1897
(B) 1899
(C) 1882
(D) 1984

13. The doctor ordered Riya to take tablets
every 9 hours. If she took the first tablet at 11 AM
at what time Riya take her 8th tablet?

(A) 5AM
(B 8 AM
(©) 11 AM
(D) 2AM

14. For 18 days of work a man is paid ¥ 1,530.
For 30 days how much will he be paid?

(A) T2,380
B) 2,500
(C) T2,580
(D) ¥2,550

15. Taps A and B fill a tank in 4 hours and
6 hours respectively. Tap C of the tank empties in
12 hours. If all 3 are open, how long will it take to
fill the tank?

(A) 5 hours
(B) 5.5 hours
(©) 3 hours
(D) 3.5 hours

11. S 5% 4,800 51w 2 I0F GarJia T
Ele)
(A) 492 5
(B) 5,292 5=
(C) 229 Biwt
(D) 5,390 Gi=At

12. SIS W< WA e T (FIF M2
(A) 1897 7 "
(B) 1899 A
(C) 1882 Hita
(D) 1984 AT

13, eigaiq e ot ffea 9 w5t e
@aaﬁﬁmﬁmaw@mwumﬁmm
©F 8-%% S746 F-0IW (I

(A) 7l 5o
(B) el 8 B
(C) et 1151
(D) =ifq 2GR

14. @3 @5 18 Feg e &0 1530 Bt
it | ©F 30 fA=a &= T Bi #Ala?

(A) 2,380 izt
(B) 2,500 Bt
* (C) 2,580 Bi
(D) 2,550 it

15. < TSI A e B V{5 & I 4 9B1

'@ 6 9% <4 T | 7 C GBS 12 95 2Aife

s | 9 TS0 79 G AIF 28 O T
G <) =2

(A) 595t

(8) 5.59%1

(C) 3 9%

(D) 3.5 9%t
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" 16. In a sale, on a washing machine marked at -

7,500 a 20% discount was given. The owner still

makes a 20% profit. What was the machme' ]

originally cost him?
(A) T5,000
(B) 6,800
(©) ¥5,500
(D) ¥6,000

17. By selIin;g acomputer for % 36,000, a dealer
makes a 20% profit on the cost price. At what price
should the computer be sold to make a25% profit?

(A) 37500 ;
(B) % 38,000

(C) T38,500 °

(D) ¥ 39,000

18, The greatest 4-digit number which is a .

- perfect square is
‘ (A) 9999
(B) 1000
(C) 9801
(D) 9900

19. Sum of the all factors of 24 is
(A) 12 '
(B) 36
(C) 48 . -
Dy 60

20. A car is travelling at a speed of 70 km/h.

What would be the d1stance travelled by the carin
24 minutes? .

(A) 28km
(B) 35km
(©) 30km
(D) 25km

CMRI/22

16. <36 G, 7,500 BiF! 7t SRR GIRTR
B9 20% =G (e 2w | MR $98 20% S
FTeE | MET € @R T i e

(A) 5,000 Tt
(B) 6,800 Bi=st
(C) 5,500 5=
(D) 6,000 BrF

17. ¢35 FTBE 36,000 ot fiw [iE s
@ oot FEIETa 20% S T 25% e
TS FOoEIL T© wiw [ F70e 732

(A) 37,500 5/
(B) 38,000 B
(C) 38,500 BIF
(D) 39,000 GrFF

18. 4 w5 Fi{qRew 3o Wl ==
(A) 9999
(B) 1000
(C) 9801
(D) 9900

19, 24-&3%@4511@? ST 2=
(A) 12
(B) 36
(C) 48
(D) 60

20. @6 sifeT sifstast zm 70 =h/a%,
24 TR0 «iifel o @y wives Ta?
(A) 28 Bf¥
(B) 35 =
(C) 30 R=h
D) 25 [
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. 26, Findthe value of xif 5is written in the form

2+—4—

1+=
X

(A) 3
(B) 2
© 6
(D) 8

27. Viticulture is related to the cultivation of
(A) Apple
(B) Orange
.(C) Grape
(D) Wheat

28. Phillip and Kevin made 60 paper flowers. If
Phillip made 3 paper flowers while Kevin made 2,
then how many did Phillip'make?

(A) 36
(B) 24
(C) 30
(b) 20

29. Inasaleallitems price are reduced by 25%.
If a customer paid ¥ 6,750 for a sound system,
then what was the regular price of the sound
system? ’
(A) T27,000
(B) 20,250
(C) T9,000
- (D) T5,400

30. In a multiple choice test, 8 marks are
awarded for each correct answer and 5 marks are
subtracted for each incorrect answer. If after 26

questions are answered, Raghu scored 0, how

many questions did he answer correctly?
(A) 13 :
(B) 10
(C 15
(D) 18

CMRI1/22

26. x~99 N 47 TR W 5@ ER D

27. Viticulture (3 SIta 7 F=AfF® b w—
(A) ST
(B) WG]
(C) =gA
(D) ==

28. frferel a3z cofem et 60 16 isivera o7 tofq
A | 0 Referet 3 o roitem oo (oR s mem fom
2 5 tof 3, o3 Referel i &-16 staterm g1 0@
ALY

(A) 36
(B) 24
(©) 30
(D) 20

29, U G >1 &WEE vt 25% = orem
2o | g A1 6,750 B 93 AeS Feow

(T, O3 (6 ASif 7 < e

(A) 27,000 Brt
(B) 20,250 Biz
(C) 9,000 1=
(D) 5,400 5i%

- 30, 93T IIfET e oArEE afel Ae
TarE U0 8 A (18T T @ 3R AT g Sermm ey
5+ S = | W 26 T 2o T g o wgR
T 078, o FoslH guiw Ter (7 Alds fFafes e

(A) 13

(B) 10

() 15

(D) 18
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31. Which Vitamin is known as Riboflavin?
"~ (A) Vitamin B,

(B) Vitamin D

(C) Vitamin C

(D) Vitamin A

32. A man and his son set cut for a walk. The
boy’s average step is two-third of his father’s. If
the father has taken 120 steps find how many does
the son take?

(A) 60
(B) 80
(Cy 100
Dy 120

33. The best way of providing value education
is through
(A) discussions on scriptural texts.
(B) lectures/discourses on values.
(C) seminars/ symposia on values.'

(D) mentoring/ reflective sessions on
values.

34. Information Technology (IT) Act, 2000
came into force on

(A) 17th October, 2000
(B) 9th June, 2000

(C) 1st June, 2000

(D) 1st October, 2000

35: Under which Article of the Constitution of
India can an individual move the Supreme Court
directly in case of any violation of Fundamental
Rights?

(A) 13
(B) 14
© 32
(D) 34

31, @M Foifim e A sfber
(A) fooifE B,
(B) f&ufm D
(C) feBfm C
(D) febim A

32. «3fb (ETIF 3R OIF (=0F 2509 (79 W | (=2FF
S 1ol OiF ot oG witsiq ga-gomed | 3 et
120 f5 ot (77, R (FTie ol et (ra e

(A) 60
(B) 80
(©) 100
(D) 120

33, IR R e faw SeAm/ A
ol
(A) =T #1y Fi S |

(B) STEUAIET Boig gt 2mi |

(C) EHEANE BoF GimE A1 Brreeitfemn

(D) TEHAIHR Botw GTORR A W Hooled
of Tl e |

34, oy =3fF Wi, 2000 PR TEET—
(A} 17th October, 2000
(B) Sth June, 2000
(C) 1st June, 2000
(D) 1st October, 2000 -

35, SRS IRRITAR (M S A GTEs
g ANEE oFE gen & TIER fem
@I (@S 2NF 2

(A) 13
(B) 14
(C) 32
(D) 34
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36'. Write the next term of the series.
5,11, 19,29, ... '

(A) 39
(B) 41
(C) 40
(D) 42

37. Archipelago is
(A) the shallow part of the sea.

(B) the slowly moving mass of ice-down
a mountain.

(C) the ring shaped coral reef.
(D) a group of islands.

38, Rakesh sold his bike at a loss of 20%. If he
sold it for ¥ 5,400 more, he would have sold it at a
10% profit, How much did he pay for the bike?

(A) 18,000

(B) 10,000 '
(C) ¥20,000 : R
(D) 22,000

39. The Parliament of India consists of
(A) Lok Sabha '
(B) Lok Sabha and Rajya Sabha
(C) President and the two Houses
(D) Prime Minister and the two Houses

40. Rohan took a loan of ¥ 1,500 with simple
interest for as many years as the rate of interest. He
paid ¥ 240 as interest at the end of loan period. Thus
the time period he has taken to return the loan is

(A) 4 years
(B) 16 years
(C) 8 years
(D) 2 years

A9 CMRI/22

36. e ~iae! 7B |
5,11,19,29, ...

(A) 39
(B) 41
(© 40
(D) 42

37. Asidlg ==
(A) T SoTSE S |
(B) =TS 5Nl I I90% S A1 AICE GeTe
el
(©) e apfer e aibh
(D) RiioltgE «3io v |

38. IO GIGASFETO0E 20% FoTs (i
FAfRE | aft ol e 5,400 Bt &R fAtew w1
o 109 =it I 7Tes | O 3 Ty R
e e ¢

(A) 18,000 izt
(B) 10,000 Bt
(C) 20,000 B
(D) 22,000 B

39. SIS AEW 456 TAE—
(A) ERTS!
(B) GIeTel 6 qlege!
"(C)- AFATS 9=z B e
(D) i 938 R 2

40. GiEA 1,500 Biet 3= qw 417 s 39
T O] 02 A 0 213 e, 240 Brpt o e
(1 41T (T8 T, OTF ©IF 41T (11 T TS 261

(A) 43=7

(B) 16 3=a

(C) 8 =q
, (D) 27=3
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41. The habitat of the Toda tribe is
(A) Aravalli Range
(B) Siwalik Range
(C) Kaimur Range
(D) Nilgiri Hills

42. Which Indian state recently announced a
Universal Health Care Program providing free
medical treatment to all residents?

(A) Maharashtra
{B) Uttar Pradesh
(C) Kerala

(D) Tamil Nadu

43. The value of 2 new car is ¥ 4,00,000. If in
the first yearits value is decreased by 10%, find the
value of the car in the beginning of the second
year?

(A) ¥3,96,000
(B) ¥3,00,000
(€) ¥3,60,000
(D) ¥3,20,000

44, If the combined daily wage of 5 men is
¥ 3,750, how much will 20 men earn in a week?

(A) ¥2,05,000
(B) ¥1,25,000
(C) ¥1,05,000
(D) T 1,50,000

45. A square PQRS is drawn on a paper and it
was folded in half to form a rectangle of perimeter
30 cm. Then the perimeter of PQRS is

(A) 15cm
(B) 60cm
(C) 50cm
(D) 40 cm

A-10

41, o Seiwrfox SRR 25
(A) SR G
®B) MR g
(€) W @
(D) Tt =t

42, ORTeT @I ey TS G TeferiE
(T (AT CENAN CATR T, T TS SN
Rty et awiw e

(A) TG
(B) SoaaAm™
(C) @A
(D) wifEIg

43, 3 A M%7 4,00,000 Gr | 7l e
I7F HNf%T @ 10% I ¥, WK B8y awwe
(O oifla o0 T 7

(A) 3,96,000 St
(B) 3,00,000 Tt
(C) 3,60,000 Tt
(D) 3,20,000 Bt

44, W 5 o EIFE (6 AfS fem MEA =
3,750%1, 20 5 T 9IS AGNZ TS @GN FAE

(A) 2,05,000 5=t
(B) 1,25,000 5=
(C) 1,05,000 Bi=et
(D) 1,50,000 5=t

45, Fiotw «FB PQRS J9frwa wiw = IR
o Wi St R 9o 30 G ARRRED
ST (ofd T4l = | ©d PQRS~47 +fafd ==

(A) 15 &
(B) 60 It
(C) 50
(D) 40 &M
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.46. 55% of the population of a city are male,

25% of the male population and 20% of the female
population are under 21 years of age. If the

population of the city is 10,000, find the ratio’

between the total population of males and females
who are under 21.

(A) 55:36
(B) 11:9
C 5:1
D) 5:4

47. A tap drips water at a constant rate of
0.03 ml per second. How many litres is that per
day? :

(A) 2592 o
(B) 0.2592 B
€ 01080 " T

(D) 2.592 . e

48, The ratio of girls to boys who voied in the

electionis?2 : 3.If 10more girls and 5 more boys were
voted, thenthe ratiowould havebeen3 : 4. Hence the
total number of students voted altogether is

(A) 325 ~
(B) 235
© 125
(D) 532

49. The geological period to which major coal
deposits of the world belong is—
(A) Cretaceous
(B) Jurassic
(C) Devonian
(D) Carboniferous

A-11 CMRI/22

| 46. " (G EITRAE 55% T 4, 4w

TR 25% 9% W2e A AT 20% T 21 IWE
Tew | 3 *rzr= GIib G 10,000 29 WTR 21
IR WG 77 8 WZA AR Speire e |

(A) 55:36 :

(B) 11:9 '

©) 5:1

(D) 5:4

47. <3 T (9w BF 2@ 0.03 RiEEE o=
oif IS At | org afelia v FoE e
(A) 2592
(B) 0.2592
(C) 0.1080
D) 2.592

48. (W G AW WG Fw o R
TS T 21313 10 T GIA 9% 5 O G
e (ot e o1 e T 3: 41 o9 @5
(Sfowie! QaRlaRRa Ta

(A) 325
(B) 235
(© 125
(D) 532

49. 04T 24 T F T OGS (A TR
wg-fe ¢l = —
(A) Rrtofmm
(B) Al
(C) cersifmi
(D) TR
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50. A container when half full holds 3.6 litres.
How much more fluid is needed to make it % full?

(A) 7.2 litres
(B) 4.8 litres
(C) 1.2litres
{D) 2 litres

51. The area of a square park is equal to that of
a rectangular field of length 96 m and breadth
54 m. The length of the side of the square is

(A) 72m
(B) 94 m
(C) 68 m
(D) 80m

52. 20% of a number is equal to L , then the-

. 30
original number is

(A)
(B)

©
(D) 1

D= wl= e

53, Twotrains are travelling towardseach other
on adjacent tracks. The first train is 86 mIong and
is moving at 120 km/h. The second train is 64m
Iong and is moving at 150 km/h. Find the time that
elapses from the second that the trains first meet
until they completely pass each other.

(A) 5 Sec
(B) 2 Sec
(C) 8 Sec
(D) 10 Sec

50, GG Al TU T ©fS 77, 6 3.6 o
mqmmﬁw%smwﬁémwww
IGEEACEG R ET

(A) 7.2 o
(B) 4.8 fEivm
(©) 1210
(D) 2o

51. G 35l ATF e SF G0 SRS
A1 1= e 96 falbta 9T 27 54 6t olF o aseTd
>R | 3ol oiFbT b alem o =

Aa) 2% '
(B) 94 f
(C) 687
(D) 80

52, a=fb ALiF 20% % o0H, O3 WA T3

.

(A)

=

(B)

()

1
5
1
2
. M1

53, 6 @7 steiam W T I e
(TR | 2w GAba o 86 fitk a3 sifewast
120 RRi/e% Bew Gafte Wl 64 GbE @R
sferel 150 Bf/a% o o a9 GasH

e ey sfves T e
(A) 5 G
(B) 2 (TS
(€) 8 CTEFS

. (D) 10 TS
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54, District Primary Education Programme
(DPEP} was started in

(A) 1990
(B) 1994
(C) 1998
(D) 1956

55. The 1st Woman President ( 1917) of Indian
National Congress Party was

(A) Annie Besant

(B) Sarojini Naidu
(C) Nelle Sengupta
(D) Aruna Asaf Ali

56. Epigraphy is—

' (A) The study of inscrif:tions
(B) Graphical Map
(C) The detection of epics
(D) The study of epics

57. Who is regarded as the Father of Algebra?
" (A) Al Khwarijmi

(B) Aryabhatta

(C) Ramanujan

(D) Pythagoras

58. ‘Ignited Minds’ is anthored by
(A) Vandana Shiva
(B} Chetan Bhagat
(C) Arundhati Roy
(D) A.P.J. Abdul Kalam

CMRI/22
54. (== &4 el (DPEP) Si(a o 53
. (A) 1990

(B) 1994 A=

(C) 1998 A

(D) 1956 At

55, SIS TSP AR e AEeATelefe
(1917) feg=i -

(A) =TI @5

(B) e iy
(C) &f cmag

(D) el S WA

56. Epigraphy 51—
(A) Pef@ s
(B) aifeae Safca
©(C) MRS =AFETY
(D) =TI SGIA

57. I Azeifieed oo @ e
(A) o= deHifFen

(B) wfeE

(Cy =wegE=

(D) ferizsitam

58. “Ignited Minds® 39 9191 Rifle ?
(A) Tt =t

(B) (%A ©9®

(C) ===l T

(D) a.ﬁ.ca.wa?ﬁm.
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59. Godaan was written by
(A) Rabindranath Tagore
(B) Munshi Premchand
(C) Sahajanand
(D) Aurobindo Ghosh

60. The motto “SatyamevaJayate”—Truth alone
triumphs is written in -

(A) Devanagari Script

(B) Kharosthi Script

(C) Gupta Script

(D) Kalinga Script

61. Tirthankara means—
(A) Three knowledgeable people
(B) The third World
(C) Ford Maker
(D) A liberated human being

62. If 3 cans of dog food will feed 2 dogs for
1 day, thenhow many dogs can be fed from42 cans
for 4 days?

(A) 6
B) 5
7
D) 8

63. Rahul can dig the garden in 30 minutes,
while his father takes 20 minutes. How long should
they take if they work together?

(A) 10 min
(B) 12 min
(C) 15 min
(D) 6 min

A-14

50, “‘cA FBicata
(A) TR SR
(B) TR cawbR
(C) =™
(D) sl 99

60. NEIRT “Foe TWE” UL 9L IR

(A) craegt e
(B) @@ Ffd-ce
(C) we %o

(D) oot Ffsi-co

5

61. SFF MA—
(A) foqem =t Tw
(B) oI e
(C) s ffet
(D) e Yt iy

62. afit 3 AR AR ! (A G T
1 9 dreg T, o@ 426 % oy
4 Tiw Toefe AT AT A 2
(A) 6
B) 5
7
(D) 8

63, waﬁmﬁ@wmﬁﬁﬁwmw
OIF 19 20 NG ARg =t | ol R T T
TS AN NG ?

(A) 10 f3f5
(B) 12 T35
(C) 15 ffG
(D) 6 fif G
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64. Wind rose diagram is used to represent
which of the following?

(A) Duration of winds only

(B) Flows between central places and
dependent places

(C) Wind directions and duration
(D) Directions of winds only

65. If x’ = 3 then the value of ¥ — 25 is
(A) -13 '
B) 30
(C) 56
(D) -15

66. Which Viceroy introduced Cooperative
Society in India?
(A) Lord Curzon ’
(B) Lord Wavell -
(C) Lord Ripon
(D) Lord Comnwallis

67. Who among the following can be removed
by the President without Parliament’s resolution?

(A) Judge of a High Court

(B) Governor of a State

(C) Chief Election Commissionat

(D) Comptroller and Auditor General.

68. It costs of a family of two adults and three
children ¥ 2,800 to go to a show. If a child’s ticket

cost % of the price of an adult’s ticket, then the

cost of an adult’s ticket is

(A) 600

B) ¥ 800 \
(C) T 500

(D) T700

A-15
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64. TS QA% CNAE Twd (AT AR
T YO T
(A) BEIG IS FATADA
(B) W I 4R WS Fwa W4
79q1E
(C) TR e W TSt
(D) SgTa AR Mo

65. T x’ =3 7, O x¥ - 25-97 W 7
(A) -13
(B) 30
(©) 56
(D) -15

66. (19 Viceroy ©RI® FAIA AR Bl
FATRER 2 '
(A) T G
(B) =76 eqirtes
(C) =& Rt
(D) =€ Flenfm

67, FE (XTI 2 FFAS Fewre wiw
WA FACS AT
(A) QTG Roeifs
(B) TR g
(C) = fafon sl
(D) Fimes @3} SIfE6T (@I

68. 7& AGTTE gR foTem Meg ugl dueiat
o4id & 2,800 SR JI5 =91 I @l Mem
O, ST G 2N (AT R e &

(A) 600 il '
(B) 800 Gist
(C) 500 Bt
(D) 700 GBIt
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69. How much water must be added to 8 litres
of 290% acid solution to make a 75% acid solution?

(A) 1.5 litres
(B) 1.4 litres
(C) 1.2 litres
(D) 1.6litres

70. What is the week’s wages earned by a
person who gets T 3,700 per week plus 2%
commission on the sale of goods in excess of
Z 1,00,000, if his sales total is ¥ 2,40,0007

(&) 8,500
(B) ¥4,800
(C) 6,500
(D) ¥2,800

71. A petrol pump can hold enough petrol to
supply 80 cars with 35 litres each. Hence the
number of cars it can supply with 50 litres petrol
are

(A) 50
(B) 56
(©) 60
(D) 66

72. Ravi has an average of 93 on 2 maths tests.
What minimum marks does he need on his next
tests to bring his average up to 95?

(A) 96
B) 99
(C) 98
(D) 95

'73. A woman reduced her weight from 95 kg to
76 kg. Then the decrease per cent is

(A) 18%
(B) 9%
(©) 20%
(D) 10%

A-16

69, s 8 FHIET 90% SHIFE ARSI 75%
STIFE ARSI T30 TS #HE o @6 FHTTA?
(A) 1.5 5o
' (B) 14FHR
(C) 1.2 v
(D) 1.6 o=

70. GFEH fera AT TgH F6 2F, I fol
3 7005t T &S ARIE AN 9=t 1,00,000 BT
&P oty Rfera Toiw 2% <R 7w, T R @l
2,40,000 Si&1g A R e
(A) 8,500 Bt
(B) 4,800 Tt
(C) 6,500 Bt
(D) 2,800 Bt

71. G CitEIe S+ 80T sifftre 35 Ed@m W
CPIGIE TR, A G ACET (PG SR
SR AR s Feafe sifbre 50 FivEm w3
cAtgiEl TS #AIE0E, OfF ALl ==

(A) 50
(B) 56
(C) 60
D) 66

72. 3R 4 9T ASTHR T 779 T 931 A
AP TS T 77 (I ©IF G 79G 95 FA?
(A) 96 '

(B) 99
(©) 98
(D) 95

73, e NEE S @TH 95 (et (U TR
76 (R LA | TR *1CTA! ST A T
(A) 18%
(B) 9%
(C) 20%
(D) 10%
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74, Every morning Raj jogs to his work 8§ km _

away at a constant speed of 12kmv/h. How much
time is saved if he cycles one morning at a speed
of 20km/h?

(A) 24 min
(B) 40 min
(C) 16 min
(D) 12 min

75. Fourwomen, A, B, Cand Dinvested money
in the ratio 1:4:7:8 in their business. Their
profits were distributed according to their

investment. If after one year C’s share of the profit -

was X 35,000, then the B’s share of the profit was
- (A) ¥ 5,000
(B} 20,000
(C) 25,000
(D) ¥30,000

76. Ramesh is 16 years older than Suresh.
20 years Jater Ramesh’s age will be four times the
present age of Suresh, The present age of Ramesh
is

(A) 12 years
(B) 28 years
(C) 36 years
(D) 32 years

77. Find the value of

1 69x67
868
A 1
B) -1
© 0
(D) 68

69

78. Mariana Trench is located in which ocean?
(A) South Atlantic .
(B) North Atlantic
(C) -West Pacific”
‘(D) East Pacific

A-17
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74. effefia s ae 8 R wivem wwetE
12 /%1 3 sifers e driee 317 | «aolie i
ol 20 f6f3/<%1 Grst Az S i o =%
I o 2 : ‘

(A) 24 Fif5
(B) 40 ffi5
(C) 164G
D) 126

75. A,B,C YR D, 5 T SZeW 1:4:7:8
SIS B e s o @ it |
ST I AT Sl T g oo o RfweE
WIS | A 9T q=F 1 C~43 FATST SAfw 57
35,000 B3I, O3 B« wiceq #fssid 51

(A) 5,000 5

(B) 20,000 Brpt
(C) 25,000 B
(D) 30,000 51t

76, T FCACT (AT 16 TR 0, 20 59 917
TR 3 AL G TR 4 91 R | T
FEAT T

(A) 1297
(B) 28 7=d
(C) 367=a
(D) 329=a

77. WA g T—
L, 6967
68 68
S (A) 1
(B) -1
(€0
(D) 68 -

78. NEAA G (@I AR e 2
(A) wfe BB
(B) Tag wibetfoe
(C) #ifss g
(D) =X 2rirg

69
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79. The Harappa Age is also called the
(A) Stone Age
(B) Iron Age
(C) Ice Age
(D) Bronze Age

80. The government established the University
Grants Commission by an Act of Parliament in the
year

(A) 1980
(B) 1948
(C) 1950
(D) 1956

81. What is the chemical symbol for Silver?
{A) Au
(B) Ag
(C) Cu
(D) Mg

82. What is the primary function of the human
kidneys?
(A) Digestion .
(B) Filtration of blood and waste excretion
(C) Oxygen transport
(D) Regulation of body temperature

83, Who was the founder of Pala Dynasty?
* (A) Gopalal
-(B) Govindapala
~ (C) Shurapala
{D) Divapala

79, THH PIT ___ JS T
(A) &=
(B) ¢
©) ¥
D) g

80, ST (I A HLAWE G5 ST Mg
e wgiR sime i smEe
(A) 1980
(B) 1948
(C) 1950
(D) 1956

81. ToNg AT H9F e
(A) Au

(B) Ag
(C) Cu
(D) Mg

82. WiEe Frefia aiufis s e
(A) To IS
" (B) 7% #AfFRe 92 18 fsfim
(C) =R Al :
(D) *<ag oistsral fomme

83. siist e efsvre 3 BEm e
(A) (o= 5%
(B) cstifZmotlst
(©) Mzt
(D) Tt
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’9 1.
A b el
84. 4[ 116+122J ?

(A) 50
B) 45
(©) 55
(D) 30

- 85. Who propounded the motto “Go back to the
Vedas”?
(A) Swami Dayanand Saraswati
(B) Bal Gangadhar Tilak
(C) Vishnu Shastri Bapat
(D) Narendra Nath Dutta

86. The sum of two numbers is 8 and their
product is 16. Then the value of the sum of the
reciprocals is

A 2
1
® 7

(O 1
© 4

87. Which nutrient is a primary contributor to
eutrophication}? .
(A) Nitrogen & Phosphorous
(B) Calcium & Phosphorous
" (C) Magnesium & Sulphur
(D) Magnesium & Potassium

88. A can with 30 marbles weighed 120 gm.
The same can with 15 marbles weighed 95 gm.
What is the weight of the can?

(A) 25gm
(B) 50 gm
(©) 70 gm.
(D) 65gm

A-19 ' ' _ CMRI/22

/ 9 1
D — — :?
84. 4{ 116+122J !

(A) 50
(B) 45
(C) 55
(D) 30

85. (v “cmirraare” yilb S TitEm ¢
(A) T wA SErrel
(B) e =i fomie
(C) R =R o5
(D) = ve

86. 96 AE @owe] 8 G QITE 161 O
BIH <7 AL @IET M T
N (A) 2

® 3

© 1
D) 4

87. W B 3V EIFIm b
SRV ? o
(A) TREIEA 9 FHATTH
(B) Feife @k s
(C) MeiAMranT 38 ARTEId
(D) SIS @qe S5

88. 30 6 M Afw «=fB #iraw @S 120 2|
G AR 15 15 e AiZe o5 95 8119 | sticag eom
FOT

(A) 2591 |
(B) 50 €™
(O 709m

(D) 65 9%
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89. Petroglyphs means

(A) the chipping of rocks to make tools.

(B) the treatment of rocks with petrol.

(C) some substance of a rock surface is
removed through engraving,
chiselling or scooping for rock art.

(D) the treatment of rock surfaces with
petrol before painting on them.

90. Theaverage age of a group of teachersis 35
and of principals is 50. If the average age of the
whole group of teachers and principals is 40, then
the ratio of the number of teachers to the number
of principals is

(A) 1:2
(B) 2:1
c1:1
D) 5:1

91. The Buland Darwaza was builtby Akbarto
- commemorate his victory of

(A) Gujarat

(B) Khandesh
(C) Ahmednagar
(D) Berar

92. What is the smallest unit of information?
(A) Bit
(B) Byte
(C) Gram
(D) Hertz

93, The Raurkela Steel Plant was built on the
banks of the

(A) Kharkai River
(B) Brahmani River
(C) Damodar River
(D) Shipra River

- A-20

89. Petroglyphs it .
(A) =g B w1 2 ok
(B) (STGE i =Ntaa oo |
(C) Mieti-omda g ofiel-camiE, el 9k
- ZPREE wige e
D) Bz =et REE s[oee (G
AR &S|

90. I PR G T T 35 AR A
GGTFR G I T 50 | TR A5 FrET @ TYrEA
1% T 40 =, Pwe TR @ SE MY TS
LG

(A) 1:2
(B) 2:1
© 1:1
D) 5:1°

91. T RGTIG WEIF SIF (I LR A=
falfet PrafaEw e
(A) Tl
(B) <Arwt
(C) S
(D) @A™

92, SIAF TASH GTT 2
(A) Bit
(B) Byte
(©) Gram
(D) Hertz

© 93, (TiaceH! 50 ANCod SRYIN (P K SN ¢
(A) R Tt
(B) Irmat
(C) WA T
(D) TRzt =t
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94, Three year 8 classes had the same maths
test. One class of 25 students had an average of
80%, the other class of 22 students had an average
of 75%, while the third class of 13 students had an
average of 61%. Then the average marks of all the
students in the three classes is

(A) 74%
(B) 74-05%
(C) 123-42%
(D) '123%

95. Whichriver was the Vijayanagarakingdom
situated on?

(A) Krishna
(B) Godavari
(C) Cauvery
(D) Tungabhadra

" 96. The Asiatic Society of Bengal (founded in
1784) owes its origin to

(A) Sir William Jones
(B) Warren Hastings
(C) Sir James Makintosh
(D) James Princep

97. Non-conformity to social norms is called
(A) Social change
(B) Deviance
(C) Social conflict
(D) Struggle

A-21 CMR1/22

94, ol T 8~ 437 sifiicen =& Tl
GG 25 SR FIAS 51T T %51 80%, S+ @55 22
A PO G W1+ fF 75% =2 13 Seea S « o
FITAF 5% T et 61% | Oigre fonlB T TR B

(A) 74%
(B) 74-05%
(C) 123-42%
D) 123%

95. erEmeIg Ae TN A e wafye e
(A) Fst
(B) coimis
(€) SER
(D) eoreal

96. 1784 #it ufFmfow FIRG T @@e-ag
e —
(A) 0= G&feEs (e
(B) 'STITRA &F5E
(C) 1A (oo SF=TBPT
(D) e feis

97. A9t AfEAeT Ay O ToT I
ZH—
(A) IR sifgads
(B) Rpf®
(C) AT T
(D) S
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98. Which pheromenon is responsible for the
formation of a rainbow when sunlight interacts in
the water droplets in the atmosphere?

(A) Diffraction
(B) Refraction and reflection
(C) Dispersion
(D) Interference

99, India recently hosted the 13th BRICS
Summit in which city?
(A) New Delhi
(B) Mumbat
(C) Bengaluru
(D} Goa

100. Malpighian Tubules are found in
(A) Respiratory system
(B) Circulatory system
(C) Digestive system
(D) Excretory system

A-22

98, IS AN ST o A R
A ALY (O B WA G o 2

(A) Rad
(B) & ¢ efewed
(C) Rvgzet
(D) fes@

99, ©rge &S (I *ECa 1397 BRICS ATT
ST TR 2
Aa) 8 f&
(B) =R
(C) F=ETF
(D) i

100. Malpighian Tubules I 7T TR ?
(A) Wty
(B) "RagToy
(C) #ApTacy
(D) ety
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1

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

Answers will have to be given in the OMR Sheet supplied for the purpose.

Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks. :

All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

There will be negative marking for wrong answer. 0.25 mark for each wrong answer.
There are blank pages at the end of this Booklet for Rough Work.

The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Who won Women’s Hockey 5s Asia Cupin ::
20237

(A) Pakistan

. (B) Bangladesh
(C) India
(D) China

2. Dakshin Gangotri, India’s first scientific
base station is in—

(A) Himalayas
(B) Indian Ocean
(C) Antarctica
(D) Kanyakumari

3. /20420 ++25 = How much?
(A) 2
B) 3
© 5

D) 6

4. Who is the youngest mountaineer in the
wortld and first from India to climb both Seven
Summits and Volcanic Seven Summits? :

(A) Amulya Sen
(B) Bachendri Pal <
(C) Basanta Singh Roy ;
(D) Satyarup Siddhanta

5. Where doLes the Easternghat and
Westernghat (mountain range) meet?

(A) Nilgiri
(B) Annamalai
(C) Aravalli
(D) Satpura

1. 2023-q WA 2 55 Asia Cup el
m_
(A) iR
(B) JiEAiom
(C) ©F®
(D) B

2. e SITERIR, SIHTOR SN (IR (2P BRI
R_EFe— .
) Rem
(B) ©IFe IR
(C) SR
(D) "miganal

3720 +420+25 = T2
(A) 2
(B) 3
© 35
(D) 6

4. Rovs sdalid 3R oiaTee AUy Aoy -

& erew #(fil5 ¢ witanfiE crew ARG s
TATRA—

(A) = O

(B) ITHE M

(C) =18 Tz 7w

(D) ot Brarg

5. oice oF ¢ SAffow QBT (sioREE)
FERI T —

(A) FErafd
(B) SmMER
(C) SIFRE
(D) wAreef
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6. The percentage measurement of water is
20% in 70 litres mixture of milk and water. How
much litres water should be added in the mixture,
so that the percentage measurement of water
becomes 30% in the mixture?

(A) 15 litres
(B) 10 litres
(Cy 20 litres
(D) 25 litres

7. President of India is elected by—
(A) elected members of Lok Sabha,
Rajya Sabhaand all the state Assembly
(B) elected members of Lok Sabha
(C) elected members of Rajya Sabha
(D) elected members of all state Assembly

8. The ratio of income of two persons is 2: 3
and the ratio of expenditure is 5 : 9. If both of the
two persons can save rupees 600 at the end of a
month, then what is the monthly income of the first
person?

(A) Rs. 1,600
(B) Rs. 1,200
(C) Rs. 1,800
(D) Rs. 2,000

9. An empty tank is water-filled by A and B
pipesin 10 minutes, by B and Cpipes in 12 minutes
and by A and C pipes in 15 minutes. In how much
time the three pipes together will fulfil the empty
tank with water?

(A) 8 minutes
(B) 6 minutes
©) 6% minutes
(D) 5 minutes

DMRI/22

6. 70 BoE 7y © wEE e e Mo
ffqmid 20% | FrteilBre wae 7@ F6E o= emMite
=73, Tire fbrs Teg 2ot #AfEwd 30% 292

(A) 15 o
(B) 10 féom
(C) 20 feibrg
D) 25 v

7. SrETed AGeATs s T—
(A) EIeeret, AEpTe! e A RuirTeieflE
Fifce Wy atat
(B) (Ao Wi 7wy d
(€) Feprer FHifts ey wal
(D) 71 Ryrrretelm FRibS w3 7=t

8. oW e SET TS 2 : 3 9R 0
TS 5 : 9 1 7l 12 e N < 600 50 T
T LA, COIRE AN YTEq WS oiw T 2

(A) 1,600 Bt
(B) 1,200 %=
(©) 1,800 %=
(D) 2,000 Bist

9. 43 YF g A ¢ B M@ 107G, B e
C 7= T 12 RS @ A ¢ C 7= f 15 BAG
Tsje i T | 7 Towi qtE v e Wiie Bl
s FA0S AT

(A) 8 G
B) 6 RFG

(8)) 6% IEIGIG
(D) 5 G
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10. Universal blood doner group—
(A) Group A
(B) GroupB
(C) Group AB
(D) Group O

11. ‘Sarbodhinayaka’ or Head of Tamralipta
Jatiya Sarkar—

(A) Sushil Kumar Dhara

(B) Satish Chandra Samanta

(C) Ajoy Kumar Mukhopadhyay
(D) Amulya Charan Maity

12. What is the difference between compound
interest and simple interest of rupees 5,000 in
2 years at 8% annual rate of interest?

(A) 64
(B) 26
©) 52
(D) 32

13. A famous musician in the court of Akbar—
{A) Tansen
(B) Abdul Latif
(C) Tulsidas
(D) Abdus Samad

14. Who was awarded 2023 SASTRA
RAMANUJAN in Mathematics?

(A) Roger Penrose
(B) Katherine Johnson
(C) Ruixiang Zhang .
(D) John Conway

A4

10, @M &F5i9 TF AL wrol 2
(A) &% @Q
(B) o1 &
(©) &} @
(D) i@

11. SR SIS i SRR R
(A) e g «rel
(B) TOMEHE AING
(C) =& T LAl
(D) SETsad W2

12. IS 8% @ IR 5,000 BT 2 9mEd
B W 8 I IS WA FO?
(A) 64
(B) 26
(C) 52
(D) 32

13. IITIES erTeld e FHoem—
(A) ©IRGH
(B) =E HoT
(C) wEtmt
(D) g AR

14. fAts 2023 SASTRA RAMANUJAN
S[RIR CAE—
(A) 99 CAFCER
(B) A T
(C) wafemi g

(D) & TN
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15. The productof two numbersis 1575 and the

quotient is % , what are the two numbers?

(A) 45,35
(B) 81,63
(C) 3527
D) 36,35

16. 1£(87'9—6) is divided by 88, the remainder
will be RS

(A) 5

B) 1

©) 81

(D) 87

17. Dyarchy was introduced in Bengal by—
(A) Robert Clive
(B} Warren Hastings
(C) Lord Wellesley
(D) Lord Dalhousie

18. Who was awarded SPINOZA prize 2023
for climate change work?

(A) Greta Thunberg
(B) Malala Yousafzai
{C) Joyeeta Gupta
D) Rachel Carson

19. The product of three consecutive natural
numbers is 120. What is the sum of the three
numbers? :

(A) 9
(B) 15
© 12
(D) 14

DMRI/22

15, 5 A @ 1575 9T S %,wm

% e
(A) 45,35
(B) 81,63
(C) 35,27
(D) 36,35

16. (87"7—6)-(= 88 214l Ol FAC= SISl T

(A) 5
B) 1
(G 81
(D) 87

17. TGN AT T I
(A) T e
(B) €Ew PO
(C) =6 ST
(D) =6 SrERf

18, 20239 STy, AREEE B AR

SPINOZA ~[&#Iq (At —
(A) 61 st
(B) Tien BTwEiE
(C) wiiel ag
(D) o= TR

19. ==+ [oaib FrofRee SRYE @i 120,

FRy fonba @isTs 397
A) 9
B) 15
(C) 12
D) 14
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25. Whatwill bethe compound interestof rupees
900 in 2% years at 5% annual rate of interest?

(A) 103-28
(B) 110-20
(C) 10450
(D) 10216

26. Where in India different types of Corals are
seen?

(A) Sundarban
(B) Kerala

(C) Daman & Diu
(D) Lakshadweep

27. Who writes story of another person’s life—
(A) Historian
(B) Biographer
(C) Chronicler
(D) Penman

28. World’s highest rainfall—
(A) Chinna Kallar
(B) Pune
(C) Pasighat
(D) Mausynram

29. 1,8,9,64,25,216,?
(A) 49 :
(B) 256
(C) 128
(D) 343

A-7
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25. AR 5% R 900 2% el o

I T QAL
(A) 103-28
(B) 110-20
(C) 10450
(D) 10216

26. 0oy @Y [feT &g g ¢ I"e

(A) T
(B) AT
(C) w8 TS
(D) =riats

27. S Gl s {fi—

(A) afszfe
(B) sfassi
(C) FRFRIT
(D) fFfeiwa

28. it (Rey) 3oie w—

(A) ot Tl
(B) “f

(C) ~ific
D) chfmas

29. 1,8,9,64, 25,216, 7
(A) 49
(B) 256
(©) 128
(D) 343
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30. A cricketer had a certain’ average of runs
up to his 64 innings. But the average runs of the
innings gets down by 2 runs on becoming out at
zero in the 65th innings. Then what is his present
average of runs?

A) 130
(B) 128
(C) 64
(D) 120

31. Last Governor General of India—
(A) Lord Canning
(B) Lord Ellenborough
(C) Chakravorty Rajagopalachari
(D) J. B. Kripalani

32. What is the sum of the first 100 odd natural
numbers? .

(A) 10000
(B) 10650
(C) 15050
(D) None of the above

33. Crocodile Tears meaning—
(A) Tears from animals
(B) Painful expression
(C) False tear
(D) None of the above

34. Brass is made of following metals:
(A) Iron-Copper
(B) Copper-Tin
(C) Copper-Aluminium
(D) Copper-Zinc

30. 9 fFROIET 64 TP ~1w ofF WS
A o1 el | [ 6599 $fieT % A =S
RO TR 9IS T 2 0 AT | OIRGA $i7 TE
NG T FO T

(A) 130
(B) 128
" (C) 64
(D) 120

31. SIR0SA (Y S (EwIEE—
(A) T Fifs
(B) &% =Tl
(C) 5FTS] IRACAARTION
(D) ¢ K. FoER

32, #aw 1007 Freife R e 5w vo 7
(A) 10000
(B) 10650
(C) 15050

(D) Totad IifoR

33, i Fam ad—
(A) @RftoE s
(B) 81 Wi
(C) oif& =t
(D) TN @GS =

34. Free @ More oigaes A ¢
(A) T=i-sEn
(B) -G
(C) wr-sryffaar
(D) oIt
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35. What digit is to be put in the “** marked 35, “* QI RoIvl O7% FIA 543247 7RI 9aral

place to get the number 5432*7 divisible by 97 ooy w1
(YN - (A0
® 1 (B) 1
© 6 © 6
@) 9 ™9
36. How many times will be some principal in 36. RS 10% T 2T 3R ISP 10 =

principal & interest in 10 years at 10% annual rate AW FOe AT
of simple interest?

. (A) 1% o
(A) 1-5 times ‘
(B) 24
(B) 2 times 1
1 (C) 2= a4
(©) 25 times 2
D) 3
(D) 3 times
37. A train crosses a lamp-post in 10 seconds 37. <S5 G <GB TH=-CATBE 10 GITF0S G

and crosses a 50 metres long platform in 14 seconds. 50 5519 tindia vl 14 Clre SifSers T4 |
Then what will be the speed of the train in an hour? GRTe (G UE T [ sifeEs Tar

(B) 45 km/hour (B) 45 ﬁiﬁ /Y[‘%f
(E) ig kn/hour (©) 30 Ry
(D) 40 kmfhour (D) 40 R/t
38. Who was awared the first Noble Prize in 38. SIaed (@ ALY ICIE THA A2
India? (A) Rt 3R
(A) Mother Teresa ®) B W
(B) C.V.Raman L
(C) Rabindranath Tagore (C) FTe ITT
(D) Amartya Sen (D) W] o
39. If 26th day of March of 2019 is Tuesday, 39. 2019 FEE 264 N6 TERE 7=, 2022
what day will be 26th day of March of 20227 HiTeAd 2604 =6 A QT A2
(A) Saturday (A) x{ﬁaﬁ-
(B) Sunday B) M
(C) Thursday ©) W
(D) Wednesday D) T

Please Turn Over
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40. A 70 metres long train in a speed of
75 km/hour will cross a 105 metres long bridge in
time.

(A) 2% seconds
(B) 8% seconds
(%] 9% seconds

D) 18% seconds

41. International Women’s Day—
(A) February 8
(B) March 8
(C) April 8
(D) December 8

42. Which country has decided to ban mobiles,
tablets and smart watches from classrooms in
20247

(A) China
* (B) India
(C) Netherlands i
(D) Japan W

£

43. Which Five Year Plan (India) focused on
the development of heavy industry?

(A) First Five Year Plan
(B) Second Five Year Plan
(C) Third Five Year Plan
(D) Fifth Five Year Plan

40. = 70 o w741 @ﬁw%‘m 75 R st
105 Tio1s =13 o6 &« ore v vl

A) 2% o

2
5

©) 9% TS

(B) 8% TS

D) 18% TS

41. e T Ter—
(A) 8 v=Ifd
(B) 8 W
(C) 8 qig=
(D) 8 frrew

42. WMW(W)WM,W
@ 15 75 e F402 2024 (R

(A) B

(B) ©ig®
- (C) TSN
(D) i

43, SI90e @ ARIEF Almn o Fea
Rt oy oreat Ak o

(A) A% QIR oAfFemt
(B) fasia stwmalfEi sifama
(C) TOF “iw=IRR wifFwwma
(D) s SRR AR
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44. A,B and C start a joint business. At the end
of the year, A gets %portion of dividend, B gets
%portion of dividend and C gets rupees 4,900.
‘What was the total profit in the business?

(A) Rs. 12,000
(B) Rs. 14,000
(C) Rs. 15,000
(D) Rs. 10,000

45, A train goes 10 km distance in 12 minutes.
If the speed of the train decreases 10 km/hour, then
how much time will be needed for the train to go
that distance?

(A) 20 minutes i
(B) 10 minutes ' ir
(C) 15 minutes
(D) 25 minutes

R

46. The costprice of an article is rupees 620 and
itis 25% less than the marked price. If the article is

sold at 15% discount, then the percentage of profit

will be
(A) 14%% ™ vk

®) 13%—%

%%

D) 12%%

©) 13

47.
P = How much?

(A) 190
(B) 225
(C) 255
(D) 536

DMRI/22

44 A, B@C@ﬁﬁmwwmlwm
AF{'GJTW W‘(‘I,BWW L s stm ez C
4900T;mvnmwmwmmfﬁ?

(A) 12,000 Bt
(B) 14,000 b=
(C) 15,000 BIF
(D) 10,000 B

45. <35 @G 10 R ey 3w 12 fif e | T
Gafb siferast 10 Refit/a5r o 3w, O €& =9
rs EAfba T ANy AN

(A) 20 fifiG
B) 10ff®
(C) 15l 5
(D) 25 fafE

46. <3 TR T 62051 4R <61 TR
(A 25% T | 516 3fM 15% 2te Rz T, o
o3l 7S TR

A) 14%%
®) 1329
D03
©) 1'3%%
o 2
i @ 15%
i
4.
r,, ~ (A) 190
ot (B) 225
(C) 255
(D) 536

Please Turn Over
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48. Firstbattle of Tarain was fought between—
(A) SultanMahmudand Prithviraj Chauhan

" (B) Muhammad Ghori and Prithviraj
Chauhan

(C) Babur and Ibrahim Lodi
(D) Akbar and Himu

49. 12 people can finish a work in 4 days. How
many people will be needed to do 8 times of this
work in half of the time?

(A) 112 people
(B) 150 people
(C) 160 people
(D) 192 people

(A) Indica

(B) Suryasiddhanta
(C) Arthasashtra
(D) Mudrarakshasa

|
50. Name of the book written by Kautilya—

1

51. Thesmallestnumberamong 3% 9% 35 9‘é‘

is
(A) 3%
(B) 9é
© 5
(D) 9é

52. The product of two consecutive numbers is
1980, what is the smallest number?

(A) 33
(B) 44
<) 35
(D) 55

A-12

48, ST AN T7 TART—
(A) TR MY @R YR GRIA TG
(B) =W (R <R <jf{Fre Gy Wy
(C) T 93 1M @i wueg
(D) =T O3 2o weeg

49. 436 T 125 @F 4 M (R 00 AR |
qF § % FIE GHS A TALS (I POTH G
AN 2

(A) 11297
©(B) 150%=
(C) 160 %=
(D) 1929

50. ey Bl argfeg Av—
(A) T
(B) TFare
(C) =g,
(D) T

1 1

1
S1. 33 95 35, g6~ W TSN AN TFi—

52, #9946 YR @I 1980 T, THoA
AN Fe?
' (A) 33
(B) 44
(C) 35
D) 55
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53. Which is the highest number of six digits 53, 3 OEA (R RSN T, 12,56 1591

dividedby7,12,5and 15remainingtheremainders | Stsf T97s1 IUFH 5, 10, 38 13 SIS AR
] 5, 10, 3 and 13 respectively? (A) 999608
(A) 999608 ®B) 999598
' (B) 999598 (C) 999600
| (C) 999600 (D) 999500
: ! (D) 999500
54, Only metal that is liquid at normal 54. G 4G A TS Ol oo SZE
temperature— T
. . (B) Zinc ®) Wl
! : (©) Copper ©) ot
(D) Mercury
) (D) A=W
55. How many Gold Medals won by India in 55, 20239 R (- SRR St 3T
i Asian Games, 2023? : HY—
: (A) 27 (A) 27
(B) 28 - (B) 28
© 29 (C) 29
) (D) 30 _ (D) 30
56. Chief Justice of Kolkata High Court— 56. TSl ZRCTITT 2 Remeio—
. (A) Justice Surya Kant (A) =557 e
‘ (B) Justice D.Y. Chandrachud i (B) =57 . 6712, bape
(C) Justice T.M. Sivagnanam (C) =5 5.« My
(D) None of them - (D) SRS @53 T
§7. Which country won Women’s Emerging 57. 2023~9 (I (™ Women’s Emerging Asia
Asia Cup in 20237 Cup T&rerz?
(A) Pakistan - _ (A) =ifeEm
(B) India - (B) oG
' (C) Sri Lanka © Sz

Please Turn Over
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58. If rupees 42 is the difference of interest of
some amount of principal between 3 and 4 years at
5% annual rate of simple interest, what is the
amount of principal?

(A) Rs. 800
(B) Rs. 840
(C) Rs. 900
(D) Rs. 620

59. Mahaparinirvana means—
‘ (A) Enlightenment
(B) Dharmachakraproborton
(C) Leaving family
(1) Death of Lord Buddha

60. Forest conservation can arrest—‘
(A) soil erosion ;
(B) pollution
(C) flood
" (D) All of the above

h]
i

61. Who renamed Calcutta as Alinagar?
(A) Alivardi Khan
(B} Murshid Quli Khan
(C) Sirajuddaulah
(D) Mir Qasim

62, Human skin tone is governed by the
pigment— -

{A) Melanin
(B) Silicon
(C) Insulin
(D) None of the above

A-14

58, i 5% e T QR g wAfttet e
3 TR @ 4 I R ~A1LT 42 B! g, Wi
AR T 9 .

(A) 800 Bt
(B) 840 5=t
(C) 900 5
(D) 620 it

59. sRAfafia e
(A) @fd=re
(B) whmeaes
(C) == opsl
(D) =T TY

60. I FTHAT N &f Sty TG —
(A) g
(B) 734
(©) i '
(D) B TR

61. TR N W @fREm
(A) St 9=
(B) It 4=
(C) Pt
(D) e=wfem

62. AT WA R (M) ST @ Somie=

“Tei—

(A) CTifaw
(B) T
(C) W
(D) Tt It =
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63. The average of 20 numbers is 12. If the
average of the first 12 numbers is 11 and the

averageofthe next 7 numbers is 10, the last number
will be

(A) 38
(B) 36
() 26
(D) 28

64. Which state is the largest producer of
sugarcane in India?

(A) Uttar Pradesh
(B) Maharashtra
(C) West Bengal
(D) Tamil Nadu

65. India’s first Remote Sensing Satellite—
(A) P6
(B) P4
(C) IRS 1A
(D) CARTOSAT

66. Which city of West Bengal is known as
gateway to N. E. India?

(A) Jalpaiguri
(B) Alipurduar
(C) Siliguri
(D) Coochbehar

1 1 1 1 _
67. ?7—+7'9+9.11+....+—23'25— How

much?

(A)
(B)
©

1= Bl s B

. (D)

Als DMRI/22

63. 205 72ig o1w 12 1 2ew 126 Fxats 51T 11
3% oY 716 Fig 1% 10 %0, 48 AT A
(A) 38
(B) 36
©) 26
(D) 28

64. SIRTTH (I AT ST GLAMH TG (F 2
(A) Cagerm™
(B) =g
(C) sifoaast
(D) wifierig

65. ©IATSy 2¥T Reale PR WG ([
S BeteR)—
(A) P6
(B) P4
(©) IRS 1A
(D) CARTOSAT

66. ARETAE @ *2IE Teg-d oRTed
AR T T2

(A) TEPiiRef®
(B) wHiErgamE
(C) Miferef®
(D) cBREe

67,

+
+4-

.l,_.
-|.—A

Lo U\
AR
~J
o
et
— | —
—
+
)
w
)
@]
Ml

(B)
©

1 g2l e -

g
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68. Leader of Munda uprising—
(A) Joa Bhagat
(B) Sidhu
(C) Birsa
(D) Kanhu

69. 4 years ago, the ratio of ages of father and
son was 9 : 2. The present age of the father is
40 years, What will be the present age of the son?

(A) 12 years
(B) 15 years
(C) 18 years
(D) 10 years

. 70. Metropolitan Institution was founded by—
(A) Ram Mohan Roy
(B} Iswar Chandra Vidyasagar
(C) Alexander Duff
(D) Nabagopal Mitra

71. A and B together can finish a work in
10 days, B and C together can finish that work in
12 days and C and A together can finish the work
in 15 days. Then in how many days C alone will be
able to do the work?

(A) 10 days
(B) 20days’
(C) 30days
(D) 40 days

72. Find out the value:

777-;- + 777% + 777% + 777%
(A) 3110
(B) 3018
(C) 3000
(D) 3108

_——-———*ﬁ_‘

A-16

68. ol R AR JH—
(A) (el oSS
®) g
(€) A=
(D) T

69. 4 T WA 9%l ¢ S WEE TS
TBe19:2 | PP S8uI T 409 T, {99 T
I A2

(A) 12929
B) 15328
(C) 183=a
(D) 10<=3

70. GIGHEDA ZRPOHTN F Qo FE
(A) NG T
(B) Swiape fRaiieig
(C) NETEEH BT
(D) TR fig

71. A€ B G309 90 HF 10 a1, B @ C «ag
S FEM 12 9 C'8 A G P 15 e o1

TS I | OIA C 491 6% s oo e Fa09
AT

(A) 10™E
(B) 20 =
(C) 30 fam
D) 40 =

72. Wi g o ¢

777% + 777% + 777% + 777%
(A) 3110
B) 3018
(©) 3000
(D) 3108
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ago?

(A) 64,500
f (B) 62,4Q0
(C) 62,500
(D) 65,100

25% profit?
3 (A) 4:1
B) 3:2
. ©€) 3:1
(D) 5:4

be the ratio of speeds of the two trains?
(A) 15:16
(B) 5:3
(C) 6:5
(D) 5:4

——

)

(A) 8
(B) 6
© 4
(D) 2

between which two countries?
(A) India-Pakistan
* (B) India-Bangladesh
(C) India—China
(D) India—Burma (Myanmar)

73. The population of a village is 67,600. if 4%
of population increases every year in the village,
then what was the population of the village 2 years

74. In what proportion pure milk is mixed with
water to-sell the mixed milk at its cost price

75. Theratiooflengths oftwo trainsis 5:4. The
ratio of times to cross a postis 4 : 3. Then what will

76. What is the unit digit of (593) x (124)%?

77. McMahon line as international Boundary

A-17 : DMRI/22

73, GG SR TEAH PR 67,600 % | IF

 oiee 2 I8 4% TR ERY e A, ©rd 2 TR

WIS 6% A IR O few ¢
(A) 64,500
(B) 62,400
(C) 62,500
(D) 65,100

74, <% Y AR T N GEice filke FE
TS vy ey Rew o901 25% e -l e
(A) 4:1
‘(B) 3:2
(©) 3:1
(D) 5:4

-

75. %% GER OUGT S 5 : 41 93 o
ST FAE TG SO 4 : 3 | iz G g
AT ol B I e

(A) 15:16
(B) 5:3
(C) 6:5
D) 5:4

76. (593)% x (124)%-99 GFFE g FO?
(A) 8 '
(B) 6
€ 4
D) 2

77, TR SRR GO O Creer SR R
P2 :

(A) SFS-~AlE
(B) SRS-—IIETM
(C) SS-BH
- (D) SR (TEER)

Please Turn Over
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78. If the g.c.d. and the L.c.m’ of two numbers

are respectively 8 and 160, then the sum of the two
numbers will be

(A) 80
(B) 62
©) 74
D) 72

79. The total equivalentdiscounts of 10%, 2(5%
and 30% serially on an article is

(A) 71.2%
(B) 62%

(C) 60.4%
(D) 49.6%

80. ‘Poverty & Un-British'rule in India’ was
written by—

(A) Ramesh Chandra Dutt
(B) M. G. Ranade

(C) Dadabhai Naoroji

(D) Amartya Sen

81. Hiroshima Day is observed every year on
(A) 4th August '
(B) 5th August
(C) 6th August
(D) 12th August

~ 82. For agricultural and rural development,
Apex Bank is—

(A) Reserve Bank of India.

(B) State Bank of India

(C) NABARD

A-18

78. G AU ALALD, @ FAALG. IAUF 86 160
o7, TR T T A
(A) 80
(B) 62
(C) 74
(D) 72

79. <0 TR T 17 A7 10%, 20% €92 30%
RUeT WG ”IG T
(A 71.2%
(B) 62%
(C) 60.4%
(D) 49.6%

80. ‘Poverty & Un-British rule in India’-3.
T4 —

(A) TCM6H 7S
(B) <. f&. Fie
(C) wwieiE s

; (D) =1} G

81. =feIwy Reabm frr «AifFe @
(A) 43t =555
(B) 5% =isp%
(©) 6T ™A%
(D) 12% =%

82. %ﬁ 3R 2l BRI SOAT MG T —
(A) =S = w9 3R |
(B) %5 % & fem
(C) 7RFE

(D) Bank of India

L ]

(D) J1E =< TR
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83. 1f the price of sugar increases by 20% and
10% respectively, what will be the percentage
increase on the total?

(A) 20%
(B) 32%
(C) 40%
(D) 30%

rupees 5, then what is the rate of loss?
(A) 75%
(B) 50%
(C) 80%
(D) 100%

85. Who assumed the titie “‘Chhatrapati’?
(A) Shivaji
(B) Baji Rao
(C) Dadaji Kondadev
(D) Shambhuji

86. Which state was previously known as
NEFA?

(A) Nagaland
(B) Manipur
(C) Mizoram
(D) Arunachal Pradesh

87. Who invented computer?
(A) Otto Hahn
{(B) Niels Bohr
(C) Howard Eitkin
(D) Charles Babbage

84, Buying 5 eggs at rupees 10, sells 10 eggs at

A-19 DMRI/22

83. BT 47 12 20% € 10% Jf (o1t e
Toig *feaa o I #Na e

(A) 20%
(B) 32%
(C) 40%
(D) 30%

84. 10org 57 o &g <3 5 ot 1076 o
oy 90, weq A T

(A) 75%
(B) 50%
(C) 80%
(D) 100%

85, ‘z@ife’ wfeut ik
(A) P
(B) qr&NS
(C) WIS (@IeTE
(D) *rSr&

86. ﬁﬁﬁﬁ%mﬁ'ﬁwﬁ (T =T NEFA
e oIfoe fere

(A) WiSiET®

(B) W=7

(C) FreEm

(D) SFaiipe At

87. FBoE ST II—
(A) S B
(B) W @R
(C) 2eTC G2HRA
(D) ool TS

Please Turn Over
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88. What is the value of
0-835x%0-835x0-835+(-165x 0165 x0-165 0
0835%x0-835-0-835x 0165+ 0165x0-165
(A) 0:67
B 1
(C) 0-138
D) 2

89. What is the average of the cubes of
consecutive even natural numbers from 1 to 257

(A) 5200
(B) 4240
(©) 4056
(D) 4628

2

90. If 4 + =0, whatisthe value of x*?

1+-
1
x+§
(a) -1
B) 4
©1
D) 16

91. A tank filled with water is made empty by
two pipes in 6 hours and 10 hours respectively.
‘What portion of the tank will be remained water-
filled after 2 hours on opening the two pipes
together?

8 .
(A) G portion

7 .
(B) G portion

© % portion

1 .
(D) 2 portion

A-20

0835 x 0-835x 0835 + 0165 x 0165 x 0165
88. 0835x0835—0835x0165+0165x0165
- iH TI?
(A) 0-67
B) 1
(C) 0-138
D) 2

89. 1 (A 25 2T #7 +I7 (=T FieiET AL
A AC 97
(A) 5200
(B) 4240
(C) 4056
(D) ‘4628

2

90. 4+ = 0 %A, =49 Fie] FS7

1+

1
x+3
A) -1

(B) 4
© 1
(D) 16

91. 9=fb TEel Oy1% b 7o e v 6 751 e
10 99618 <& =t T | WM IR Y oreTe
2 9Bt #I OniEfow e e el Qd e

3
(A) <3 W
7
(B) 5w
(©) %ww

)] % |
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92. A dwelling in which soldiers live—
(A) Camps
(B) Barracks
(C) Tents
(D) Fort

93, 10 carpenters can make 6 almirahs in
7 days. Then how many days will take 21 carpenters
to make 18 almirahs?

(A} 10 days
(B} 12 days
(C) 16 days
(D) 15 days

94. Average of three numbers is 77. The first
number is twice of the second number and the
second number is twice of the third number. Then
what is the first number?

(A) 132
(B) 144
(©) 120
(D} 160

26,24, .14 - 9
T ..K.13,thenK I~'Iowmuch.

1
&) 3
®) 2

21
© =
D) 3

95. If

96. Who introduced Kabuliyat and Patta?
* (A) Sher Afgan Khan
(B) Sher Shah
(C) Akbar
(D) Malik Ambar

A-21 ' DMRI/22

92, GHifFRE—

T (A) e
(B) ¥R
(C) G% (3R)
(D) 7o

93, 10T ieod Wi 7w 67 Wi 3mice
Al | S 21 & A fifE s M 1876 wiaanfy
TAITS AT '

(A) 10%H
(B) 12w
(C) 16w
(D) 15FE

94. Tl 7R 518 77 | &L A RSl =z
Bad a3 Toh =4 g MgF Red | o
S WY Fo ¢

(A) 132
(B) 144
(C) 120
(D) 160

95, afi 20.24 .. k. 14 o wrm K=oy

96. TYeTHE @ G Il TeAT—
(A) R ST AR
(B) 9 =g
- (C) TR
D) i w7
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97. Evaluate the smallest number which is
completely divisible by 18, 30, 21 and'12 if it is
made thrice.

(A) 420
(B) 360
(C) 520
(D) 660

98. If Ais 10% less of B and B is 10% more than
900, then what is the value of A?

(A) 660
(B) 800
(©) 891
(D) None of the above

99. In an election, a candidate getting 60% of
votes defeats the opponent candidate by 298 votes.
Then total how many votes were polled in that
election?

(A) 1600
(B) 1490
(C) 1460
(D) 1540

100. Loktak lake is situated in
(A) Nagaland
(B) Arunachal Pradesh
(C) Manipur
(D) -Sikkim

A-22
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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the Special Answer-Sheet supplied for the purpose.

3. Before you proceed to mark in the Answer-Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each wrong answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Which one of the following is not a
greenhouse gas?

(A) CO,
(B) CH,
© G

(D) CFCs

2. Which one of the following was published
by Raja Rammohan Roy?

(A) Sambad Kaumudi
(B) Hindu Patriot
(C) Sandhya

(D) The Enquirer

3. The brain of human body is responsible for
(A) Thinking
(B) Regulating the heart beat
(C) Balancing the body
(D) All of the above

4. Who is the present Chief Justice in the
Supreme Court of India?

(A) Ranjan Gogoi
(B) N.V.Ramana
(C) Dhananjaya Yeshwant Chandrachud
(D) None of them

5. Which Mughal Emperor took the title of
‘Alamgir’?
(A) Akbar
(B) Jahangir
(C) Aurangzeb
(D) Shah Jahan

A-2
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.. 6. The time at which a sum of Rs. 1,600
becomes 1,852.20 at an annual rate of interest 20%
compounded quantity is

(A) 3 months
(B) 6 months
(C) 9 months
D) 12 months

7. Five years ago, the father’s age was 8 times
that of his son’s age. Five years hence, the sum of
their ages will be 65 years. Father’s present age is

(A) 50 years
(B) 40 years
(C) 45 years
(D) None of the above

8. The denominator of a fraction exceeds its
numerator by 4. If both the numerator and
denominator are increased by 3, the new fraction

4
becomes 5 The original fraction is .

13
17
12
17
11
17

(A)
B)
(O
(D) L
17
9. The circumferences of the front and rear

wheel of a rail engine are respectively 140 cm and
350 cm. The least distance to be covered by the

engine so that both the wheels complete their full

rotation simultaneously is
(A) 1400 cm
(B) 700 cm
(C) 1050 cm
(D) 980 cm

A-3
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(A) 350
(B) 6
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17
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17
14
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(B)
©

" (D).
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10, In ancient India Gandhara art flourished
during the reign of
(A) Ashoka
(B) Kanishka
(C) Harsha Vardhana
(D) Dharmapala

11, The age of a man is twice the sum of the
ages of his two children. After 20 years, his age
will be equal to the sum of the ages of his two
children. The age of the man is

(A) 35 years
(B) 45 years
(C) 40 years
(D) 50 years

12. Methanoic acid is present in the
(A) Sour milk
(B) Tamarind
(C) Orange
(D) Ant sting

13. Which among the following statements is
incorrect about Gandhiji?
(A) He supported separate electorates.
(B) Heled Dandi March. |
(C) Hestarted Non-Cooperationmovement.
(D) Heattended Round TableConference.

14. The average weight of some number of
students is 55 kg. Among them the average weight
of 20 students is 60 kg and that of the rest of the
students is 51 kg, Total number of students is

(A) 54
(B) 52
(C) 48
(D) 45

A4

10. mﬁwmwﬁwﬁaﬁ@m&m
A A, o 2w

(A) S
(B) #idg

(C) =dadq
(D) ol

11. % e T o B (E-GEE eI
TR Bt | 20 57 o ©F T 9 RE-EERE
JACIA ANBA 4 | €% Jjfea 377 =7 :

(A) 3593 :
(B) 45 T=d
(C) 402=3
(D) 50<="

12. fRiefie wife Qi
(A) 5 e
B) &g
(© FeeTES
(D) foieives w=

ﬁmﬁq%@ﬁammﬁmw

: mm?

(A) %ﬁﬁ%(ﬂ‘ﬁm%ﬁﬁ)ﬁmﬂﬁﬁiﬁ
R e Farea |

(B) T ©ifts s oy Mk

(C) fof" wprzganst wiTHmET Fqaore
FARE |

(D) fof (B Rer e asmim e iEEm |

14. R R 1% GG 55 % | ST N0g
20 T A ST 60 (HiEr 9T N QAT 7 e
51 & | ez (b =i et

(A) 54
B) 52
(C) 48
(D) 45
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gy 15. The ratio of two liquids A and B in a
mixtureis?2 : 3 and that in another mixtureis 5 : 4.
To gettheequal quantity of the liquids A and B, the
required ratio of the two mixtures is

Aa) 3:7 ‘

(B) 4:9

(C) 6:11

D) 5:9

) Cr
g 16. The number of biggest squared-shaped stone
required to cover a rectangular area of sides 45 m
and 33 mis ‘

(A) 175

(B) 165

(C).155

(D) 145

17. A fruit vendor buys certain number of
bananas. If the selling price of 5 bananas is equal
to the cost price of 6 bananas, then his profit or loss
percentage is : :

(A) 20%
B) 25%
(©) 15%
(D) 30%

18. A bag contains of rupee 1, 50 paise and
25 paise and the ratio of the values of the coins is
45 : 6. Then ratio of the numbers of the coins is

(A) 3:5:7
B) 2:5:12
(C) 2:5:9
D) 2:3:10

19. Who took the title of ‘Vikramaditya’?
(A) Chandragupta I
(B) Chandragupta II
(C) Chandragupta Maurya
(D) Samudragupta

EMRI22

_. 15.. 7% Faret A @3¢ B SHGT ST 2o A
2:3 @G3R 5 : 419 i @ SeAilcs GHlE A€ B
CHER IS Tl R GG

(A) 3:7

B) 4:9

(©) 6:11

m 5:9°

16. G SeIE CRCe o @ o A 45 B
@ 33 Tilbia 27, St T© RS TGN T ~A1ew
il ¢3 SOl CRACE (TP (A O T

(A) 175
(B) 165
(C) 155
(D) 145

17, &% TERers! FE RIS FAN T IRNAR

i 67 T T T eR w51 e Rern w0

o ere/Fog «fad Fo?
(A) 20 i
(B) 25 el
(C) 15 *ee
(D) 30*eid

18. «3f Affites g WAT 1 B, 50 7F,
25 o1Ee7E g =ieE | A S AETA S AT 4:5:6 %0
O3 O FRYIE ST T

C(A) 3:5:17
(B) 2:5:12
(€) 2:5:9
(D) 2:3:10
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20. The sum of two numbers is 150 and their
H.CF.is 15. The numbers are .

(A) 60,90
(B) 30, 120
(©) 75,75
(D) 45, 105

21. Who wrote ‘The End of History’?
(A) Michel Foucault
(B) Francis Fukuyama
(C) Sigmund Freud
(D) E. H, Carr

1
22. Amancoversadistance of 24 kmin 3 E hrs

partly on foot at a speed of 4.5 km/hr and partly on

bicycle at a speed of 10 km/hr. Then the man
covers the distance on foot is

(A) 10km

(B) 9km

(©) 11km

(D) 12km

23. Inaflood relief camp there was a provision
of food for 1000 people for 100 days, after 25 days,
250 people went away elsewhere. Number of days
the remaining food lasts for remaining people is

(A) 100 days
(B) 90 days

(C) 200 days
(D) 160 days

24. Aparnahasenoughmoney tobuy 36 oranges
atarate of Rs. 4.50 per orange. Number of oran ges
she buys when the rate per orange is increased by
90 paise is

(A) 30

(B) 27
(C) 33

(D) 36

A-6

20. B RIS IR 150 Wi SIoE 417412, T

151 712251 75 Z= '
(A) 60,90
(B) 30,120
(C) 75,75
(D) 45, 105
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(B) 27
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25. A policeman starts to chase a thief. When
the thief goes 5 steps, the policemanmoves 6steps.
Again, 3 steps of the policeman is equal to 6 steps
of the thief. The ratio of the speeds of the policeman
and the thief is

Ay 12: 11
(B) 11:7
€ 12:7
(D) 12:5
26. In which year National Human Rights
Commission of India was established?
(A) 1990
(B) 1993
(C) 1947
(D) 2000

27. Who among the following won Ramon
Magsaysay Award?
(A) Ashapurna Devi
(B) Anita Agnihotri
(C) Mahasweta Devi
(D) Bani Basu

28. Sardar Sarovar Dam is built in the river
(A) Mahanadi
(B) Narmada
(C) Chambal
(D) Chenab

29. Ratio of three positive numbers is2:3:5,
sum of whose square is 950. Then the numbers are
(A) 2,3,5
(B) 8,12,20
(©) 10, 15,25
(D) 12, 18,30

EMRI/22
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(A) 12:11

(B) 11:7

©) 12:7

(D) 12:5
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30. Who among the following published ‘The
Kesari*?
(A) Mahatia Gandhi
(B) Bhagat Singh
(C) Balgangadhar Tilak
(D) B.R. Ambedkar

31. A number of two digits exceeds four times
the sum of its digits by 6, It is increased by 9 on
reversing the digits. The numberis - .

(A) 45
(B) 43
(C) 34
(D) 54

32. A3-digit number is subtracted by anumber
obtained by reversing the digits of the original
number. Then the difference is divisible by

(A) 91
(B) 98
(C) 99
D) 101

33. Salim Ali is a famous
(A) Entomologist
(B) Ornithologist
(C) Virologist
(D) Archaeologist

A-8
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34. Mr. Bose's monthly income is Rs. 16,000.
' 1
He spends n of his income on food. Out of the

5
f) on house rent and -2—4 on

the education of his children. Money he saves per
month is

(A) Rs. 5,700 -

(B) Rs. 5,800

(C) Rs. 5,900

(D) Rs. 6,200

remaining, he spends

35. Who appoints the Chief Justice of the
Supreme Court of India?
(A) Prime Minister of India
(B) President of India
(C) Vice President of India
(D) Speaker of the Lok Sabha of India

~ 36. Out of 8000 candidates, 60% were boys. If
80% of the boys and 90% of the girls passed the
examination, number of candidates failed is

(A) 1260
(B) 1270
(©) 1250
(D) 1280

37. A person went to some place at a speed of
15 km/hr and returned to original place at a speed
of 10 km/hr. The average speed of the person is

(A) 12 kmvhr
(B) 13 km/hr
(C) 12.5 km/hr
(D) 14 km/hr

38. The dockyard was found in which of the
following sites of Indus Valley Civilization?

(A) Chanhudaro
(B) Lothal

(C) Kalibangan
(D) Banawali

A-9
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39. A student secured 32% marks in an
examination and failed by 12 marks. Another
student secured 42% marks and got 28 marks more
than the pass marks. The maximum marks of the
examination is
‘(A) 500
(B) 600
(C) 400
(D) 700

40. The acid present in the lemon is
(A) Lactic acid
(B) Oxalic acid
{C) Citric acid
. (D) Acetic acid

" 41. The ratio of milk and water in three equal
pots are in the ratios 3:1, 5:3 and 9;7 respectively.
Then the pot in which milk is more than water—

(A) Equal milk in all pots
(B) 3rd pot

(C) 2nd pot

(D) 1st pot

42. Manishsold his watchat 10% loss. Ifhe had
sold for Rs. 54 more, he would have made 8%
profit. The selling price of the watch is

(A) Rs. 490
(B) Rs. 350
(C) Rs.270
(D) Rs. 420

43. What will be the angle between the hands of
a clock when the time is at 12-10 a.m_9

(A) 25°
B) 50°
(C) 60°
(D) 40°

A:10

39. 4T QY oI ST 32 *HOI TFY A 972
12 TR G I I 42 *S1o wEE A
QR A T (I3 28 77 &P o1 | 93 =T i
T '

(A) 500
(B) 600
(C) 400
(D) 700

40. AR g @ PG AT, B T
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(©) 7REs wife
(D) =wIGIoT e
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(A) 490 Bl
(B) 350 Bit
(C) 270 Bt
(D) 420 Bt
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(A) 25°
(B) 50°
(©) 60°
(D) 40°
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,44. The ratio of monthly income of two persons

isg;: 7 and the ratio of monthly expenditureis4 : 3. -
If-each of them manages to save Rs. 2,000 per -

month, then their monthly incomes are
(A) Rs. 18,000, Rs. 14,000
(B) Rs. 13,500, Rs. 10,500
(C) Rs. 22,500, Rs. 17,500
(D) Rs. 27,000, Rs. 21,000

45, Who is the author of the Book ‘Wings of
Fire’? Wings of Fire is the autobiography of
(A) Salman Rushdie
(B) Arundhati Roy
(C) A.P.J. Abdul Kalam
(D) Shashi Tharoor

46. In which one of the following states is
Rawatbhata Nuclear Energy Plant located?

(A) Gujarat
(B) Kerala
(C) Punjab
(D) Rajasthan

47. If }.C+—2-><—.—3——.;_.§:5E ,thenx=
3752 .1 4 25

—+—of 1=
6 5 4

(A) 5

B) 2

o1

D) 3

48. The chemically inactive gas present in the
atmosphere is

{A) Oxygen

(B} Water vapour
(C) Nitrogen

(D) Argon

-

A-11
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49. A gardener has 1400 plants to arrange in
same number of rows and columns in a square
field. The minimum number of more plants required
to make such arrangement is

(A) 45
(B) 41
© 49
(D) 44

50. The least number that must be added to
6412 to get a perfect square is
(A) 141
(B) 129
©) 139
(D) 149

51. Baba Amte is associated with which
movement in India?

(A) Save Ganga movement
(B) Save Narmada movement
(C) Chipko movement

(D) Tebhaga movement

52. A chemist has a solution which has 50%
acid and another solution which has 25% acid. The
amount of two solutions required to make 10 litres
of 40% acid solution are

(A) 6 litres, 4 litres
(B} 4 litres, 6 litres
(C) 7 litres, 3 litres
(D) 3 litres, 7 litres

53. Jim Corbett National Park is situated in
(A) Uttar Pradesh
(B) Uttarakhand
(C) Madhya Pradesh
(D) Kerala

A-12
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54. Which period was known as ‘The Golden
Age’ of ancient India?

(A) Maurya Age
(B) Kushana Age
(C) Satabahana Age
(D) Gupta Age

55, Which one among the following is not
composed by Kalidasa?

(A) Abhijnana Shakuntalam
(B) Mudrarakshasam

(C) Raghuvamsam

(D) Kumarasambhavam

56. Lionisconserved in which National Park of
India?

(A) Corbett
(B) Gir

(C) Kaziranga
(D) Jaldapara

57. Name the disease cansed due to deficiency
of todine in our diet.

(A) Myopia
(B) Goitre
(C) Scurvy
(D) Anemia

58. Which one of the following is an example
of the Ferrous Metal? :

(A) Copper
(B) Tin

(C) Bauxite
(D) Nickel

A-13
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54. PR ©IFTed i 5 R/ 1 I Biee
T =2
(A) angga
(B) T A
(C) ez st
(D) og g

55, Si5a TR Ty @b FFmEE @
Cogd
(A) SfSTrmIEEe
(B) @MY
(C) TIIRAY
(D) TSI

56. Figg 7icaire g8 SRS (TN TR S ¢
(A) FHEG
(B) foa
(C) i
(D) remisiret

57. SR A0 SEIRET ek A @
il ordt o ?

(A) et
(B) iz
©) =S
(D) o

58, PEfiRe SrzateRn g @l chaie
qrg?

(A) S
®) %=
(C) ==/
(D) W=
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59. A, B and C start a business together. In a
year they earn Rs. 29,000. If the ratio of investment
of AandBis3:2and thatof B: Cis5:2,then A

earns
(A) Rs. 15,000
(B) Rs. 14,000
(C) Rs. 16,000
(D) Rs. 18,000

60. Deficiency of which vitamin is responsible
for rickets in Children?

(A) Vitamin A
‘ (B) Vitamin B
| (C) Vitamin C
(D) VitaminD

61. Which one of the following subjects is
included in the concurrent list?

(A) Trade

(B) Agriculture
(C) Banking
(D) Education

62. Who was the first Foreign Minister of Free
India?
(A) Jawaharlal Nehru
(B) Maulana Abul Kalam Azad
{C) B.R. Ambedkar
(D) Sardar Vallabhai Patel

63. Three bells toll together and then at an

1 .1
intervals 3= 3 25 and 15 seconds respectlvely

The belis toll again after
{A) 10 seconds
(B) 8 seconds
(C) 12 seconds
(D) 15 seconds

59. A, B, C <30 I OF Fael) TS O
29,000 BiF #® FE | A 8 B-a8 YT AAEG e
3:2 G} B 8 C~g9 PG SAle 5@ 2 T, Ol
A T AL

(A) 15,000 =
(B) 14,000 59
(C) 16,000 G
(D) 18,000 Gigst

Aty

60. m%mﬁmwﬁ@mﬁwﬁmﬁw?
(A) fEBim A
(B) f&6ifsm B
(C) foitm C
(D) TS D

61. @® W I O At SEel SifeRige
s W qem
(A) 3 qifdes
(B) I
(C) TR
(D) formt

62. A wiFred a4 Rormd & W
(A) ST (T
(B) CTETHI S Sl SEmT
(C) R =IF. SIETEd
(D) T ITSSIR, HAIe

63. azfi freta oG 9951 9P A& | SR

1 1 2
‘@1"srt3§ I, 25 CTEG g% 15 CTFS 24

e | oiggE 92 feRit 9 e (@ T o[
A &S ol €@

(A) 10 GTFS

(B) 8 CIT®

(C) 12 TS

(D) 15 GTe
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64. Who is the author of the book ‘Stlent
Spring’?
(A) Rachel Carson
(B) Charles Darwin
(C) Adam Smith
(D) None of them

65. The length and breadth of a rectangular
areaincreased and decreased respectively by 10%.
Then the percentage of reduction/increase of the
area is

(A) 0.5%
(B) 1%

C) 1.1%
(D) 2.1%

1
66. A man donated T of his money to a

1
school, 5 of the remaining to a church and the

remaining money he distributed equally among

his three children. If each child gets Rs. 50,000,
then the man originally had

(A) Rs. 1,50,000

(B) Rs.2,00,000

(C) Rs. 2,50,000

(D) Rs. 3,00,000

67. The sum of the numerator and denominator
of a fraction is 4 more than twice the numerator. If
the numerator and the denominator are increased

by 3, the fraction becomes 2 . The fraction is

z

Cl

©

WiNz|welvG]

8
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64. ‘53 7Y (Silent Spring) AYHA T T
(A) TG I
(B) Bisf wImeen
(C) =prer R
(D) E WY oL T

65. 9 SFOIPR CFEEA g 10 =0 ASIc
T GR A 10 WORA T | U0 FH TG
(R (T T =S IECE! A P 7

(A) 0.9 ssiga
(B) 1=

(©) 1.1=Srxt
(D) 2.1 =izt

66. mwﬁ@wﬁwﬁ To 1 T W I
At wicde W"*lwﬁ@ﬁwmtmw%m
wﬁ%wmwﬁa@mﬂmww
T 074 |3 2001 T 50,000 B0 0 {14, S

O o wfae =
(A) 1,50,000 Brt
(B) 2,00,000 Brpt
(C) 2,50,000 Bt
(D) 3,00,000 Giat

67. I SARR 6 Z(FI RGeS SR
T ROTIT (AT 4 @R | 3f 79 @ W 3 IW
T 2 WL e ST 2 % |STegeT i< 2w

z

(B)
©

o |~ :Im\D[Lh S!‘-’

g
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68. A steamer travels 90 km downstream at the
same time as it takes to travel 60 km upstream. If
the speed of the stream is 5 km/hr then the speed of
the steamer in still water is .

(A) 20 km/hr
(B) 15 km/hr
(©) 25 km/hr
(D) 30 km/hr

69. During which Governor General’s reign
the partition of Bengal was declared in 19057

(A) Lord Curzon
‘ (B) Lord Wellesley
(C) Lord Ambherst
(D) Lord William Bentinck

70. A train passes a bridge 264 m long in
20 sec, butit takes 8 sec to cross a signal post of the
rail line. The speed of the train is

(A) 83.6 km/hr
B) 79.2 km/hr
(C) 64 km/hr

(D) 72.8 km/hr

71. The number nearest to 100000 exactly
divisible by 2, 3,4, 5,6 and 7 is
(A) 100030
(B) 100010
(C) 100020
(D) 99960

72. A farmer grows paddy and jute in his
35 bighe of land in a ratio 4:3. He earns as profit
Rs. 2,500 per bighe from paddy and Rs. 2,800 per
bighe from jute. The ratio of profit from paddy and
jute is .

(A) 25:21
(B) 5:4
(C) 23:22
(D) 4:5

A-16

68. 6 Foma eives e 90 f¥f @ o

W AT 60 o (12 = 7o T 1 TR
&ITea o6 5 <51 271 O o e o iad of s
EG \

(A) 20 RR/aest

(B) 15 Rf/aest

(C) 25 Tfi/=5

(D) 30 e

69, SIS (I ISHA (TRIEETT AAIHIA
1905 %51 Twen (RIS TR ?
(A) € efq
(B) 6 STETIE
(C) &6 =S
(D) =16 el afom

70. 93 @GN 264 5@ M@ 9 G
20 FIRS ST TR G, FEERHT LIS 930
QNCT § CIATS S I | OiEre G Ao T

(A) 83.6 ffacs
(B) 79.2 Rfaraes
(C) 64 Bt

(D) 72.8 Rfsi/asi

71. 100000~99 7638t @ A1 2, 3, 4, 5, 6
22 7 e Reteg Gt ==
(A) 100030
(B) 100010
(C) 100020
(D) 99960

72, $FEH S SR 35 [l whis 4:3 SEAS
e @ 2if5 518 T | (1 T =S iy «iv e A% (A
JYF 2,500 51! 1%, 2,800 BIFi IS T ©(F 43
@ #fG BIEE OIF FASH AN

(A) 25:21
B) 5:4

(C) 23:22
D) 4:5
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73. The Information Technology Act in India
wzijé passed in
(A) 1990
(B) 2000
(C) 2010
(D) 2005

74. World Environment Day is
i (A) 22nd December

(B) 1st May

(C) 6th February

(D) 5th June

75. If x+2+

=7 ,thenx=
1+

1
375

88

19

87

19

91

19

89

19

(A)
®)
©

(D)

76. The salary of a person is reduced by 25%.
The percentage increase of the present salary to get
back the earlier salary is

(A) 35%
(B) 25%
(C) 20%

1
(D) 337%

77. Indigo Rebellion (1859-60) took place in
(A) Bengal
(B) Andhra Pradesh
(©) Uttar Pradesh
(D) Kerala

A-17
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73. SIS INFEHIA GIAER 9 wYeRie
SEA “AP TR
' (A) 1990 i
(B) 2000 A=
(C) 2010 7t
(D) 2005 A=

74. T AfFe 7 (oW el <o e
(A) 2204 o™
(B) 1=t
©) 63 TzFafa
(D) 53%A

75. T x+2+ L

> =7 &, 9lRE x =
1+ ——

11
373

88

19

87

19

91

19

29

19

(A)

(B)
©

D)

76. 9T P& @OF 25 *OIN FaACE | IET
(TS F© I FGIET #Je (To 07 #iia 2
(A) 35t
(B) 25 *sige
(C) 20 %@

1
(D) 33; TSI

77. A [{miz (1859-60) s@me
(A) IR
(B) wiFelTT
(©) Sename
(D) @AER
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1
78. If — of a number is added to 7 of that

4

number, the result is 15 greater than — of that

= Wl

number. The number is
(A) 160
(B) 190
(C) 180
D) 170

79. A man buys postage stamp of 25 paise and
50 paise for Rs. 10. He buys 28 stamps in all.
Number of 25 paise stamp bought by him is

(A) 16
(B) 20
) 12.
D) 15

80. In human eye the part which allows lightto

enter into the eye is
{A) Retina
(B) Pupil
(C) Eyelens
(D) Cormnea

81. The difference of the compound interest
and simple interest on certain amount at the rate of
10% for 2 years is Rs. 50. Then the amount is

(A) Rs. 6,000
(B) Rs. 5,000
~(C) Rs.7,500
(D) Rs. 4,500

82. If 3 men or 4 women can earn Rs. 480ina

day, thenthe amountthaté menand 11 womenwill *

earn in a day is
(A) Rs. 2,380
(B) Rs.2,320
(C) Rs. 2,280
(D) Rs. 2,220

A-18

1 1
78. GIIG TRY o &R 67 TR 3 e
M el TAE ¥ TR ored T o 6% A

1
— w4 15 iET | RS =

2
(A) 160
(B) 190
(©) 180
(D) 170

79, 9% T 25 WA S 50 N EVF 10 5
BB @ | o7 T G 287 wiefoRE @ F
T 25 #T MeE SEBREE AR =

(4) 16
(B) 20
(©) 12
(D) 15

80. TET G @ WG G0y = 2
(A) &ont It SFess
(B) Pupil i wFErer
(C) Eye lens 1 (BICAA &7
(D) a3t wRsive

81. g #Afiwid SriF 10 *ein e 2 I
B 7% 6 T4 A WG S0 I | S Bipid
At 2= '

(A) 6,000 Bl
(B) 5,000 Bl
(C) 7,500 5=l
(D) 4,500 5=

82. T 3 & «j7Fa WYl 4 o SZE A 480 B
W A O 6 T 4 6 11 T 12 g7 T
il S AR

(A) 2,380 5
(B) 2,320 5wt
(C) 2,280 B
(D) 2,220 B8
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83. A, B, C can do a piece of work together in
15 days. B alone and C alone can do the work in
30days and 40 days respectively. A alone can do the
work in

(A) 60days
(B) 30 days
(C) 120 days
(D) 75 days

84. Jhumpa Lahiri is a famous
(A) Dancer
(B) Author
(C) Actress
(D) Athlete

1

85. In ancient India the famous Nalanda
University was founded by

(A) The Maurya Emperors
(B) The Chola Emperors
(C) The Gupta Emperors
(D) The Pallava Emperors

86, Who among the following wrote the song
‘Vande Mataram’?

(A) Rabindranath Tagore

(B) Bankimchandra Chattopadhyay
(C) Abanindranath Tagore

(D) Dwarkanath Tagore

87. Iron ore mines of Mayurbhanj are located
in
(A) Odisha
(B) Gujarat
(C) Keraia
(D) Rajasthan

:II .

A-19 EMRI/22

83. A,B,C 93 G303 15 et o8 307 1 €2
TG0 B @R C G GF T4 AT 30 T @
40 T 1R T | A 68 Tt oS B o1 e 2

(A) 60 TG
(B) 30w
(€) 120 =
(D) 75 W=

84. =it RS 2Fm T Rare
&) TR
B) it
(C) sfrval
(D) Froiim

85. oS wires Rurs - Aiem R
Tl FEREA

(A) G0 sl
(B) (b= w=iGa
(O) ©d 7=ia
(D) ~w3 5t

86. e HfET™ Ty & <o oay’ s
oAl TR ?

(A) 7oA g
(B) 3fesver GLBINGE
(C) SR 3iga

(D) RFTHY TP

87. ITeET (TR W W @i @ ey,
GG ==

(A) s
®B) wemi
(C) et
(D) arerg
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88. Inaschool there were 660 students and the
ratio of the number of the boys and girls was 13 : 9.
After a few days 30 girls joined the school and few
boys left the school. As a result, the ratio of the
boys and girls become 6 : 5. The number of boys
left the school is

(A) 40
B) 50
(C) 30
(D) 60

89. Raju sells two calculators for Rs. 1,500
each. He earns a profit of 25% on one and suffers
a lose of 25% on another. The profit/loss of the
person is

(A) Rs. 100
(B) Rs. 200
() Rs. 300
(D) Rs. 350

90. In 1972, the population of a village was
2000. In 1982 male population was increased by
10% and female population was decreased by 6%
but there was no change of the total population.
Then the male population in the year 1972 was

(A) 730
(B) 750
() 720
(D) 770

91. Magbool Fida Husain was a famous Indian
: (A) Singer

(B) Artist

(C) Author

(D) Journalist

92. ‘Bihu’ is the folk dance of
{A) Rajasthan
{B) Punjab
(C) West Bengal
(D) Assam

. A-20

88. i Fl 660 T @Rl B @R Big.
B SR SeAre 13 1 91 Rgfua #f% 30 & wgw
A S HE (@19 07 93 g =i 6 e (2T T
B AT | 1T T 28 R A WA = 62 5 |
PG B €% T (G O T2

(A) 40
(B) 50
©) 30
. (D) 60

89. 415 T WEgeEva &fel 1,500 B [ie
IR | (T 90O 25 =W e IR 93 Ve
25 Wi HS 2 | OIEe OIF Fe/AReR sl 28

(A) 100 Bl
(B) 200 Biat
(C) 300 5=t
(D) 350 B

90, 1972 I =6 e SRt 2000 |
1982 A <F@EI WA 10 #oId I #Am aR
et T 6 *oted g ot 3fRe @b TR
OB AT | IR 1972 A FRET 12! s

(A) 730
(B) 750
(©) 720
(D) 770

9. WWWW@WWW@?
(A) RIS
(B) afstt
(C) @IF
(D) IR

92. ‘9 (AP TS ?
(A) AeE=
(B) Aigiq
(C) #e=et
(D) A
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- 93, Loktak is a

(A) Mountain

(B) River

't (O) Lake
(D} Desert

-

94. In which field Arjuna award is given?

(A) Foroutstanding performanceinsports
and games,

(B) For social service.

(C) For brilliant achievement in science
and technology.

(D) Forbrilliant performance inliterature.

95. Which one is not an ore of iron?
(A) Bauxite
(B) Hematite
(C) Magnetite
(D) Siderite

96. The six digit least number which is exactly
divisible by 215 is
(A) 100170
(B) 100180
(C) 100190
(D) 100160

97. Kathakali is the dance of which state of
India?

(A) Maharashtra
(B) Uttarakhand
(C) Odisha
(D) Kerala

A-21 EMRI/22

93, CEIIPBIT 2 GFH
(A) »F
(B) @
(©) T (&)
(D) TFg

94, N ATHE iR T W DR T
(A) o e w |
(B) FIGTRIA &+ |
(C) R e oy ot SPImey S amies
G |
(D) AIRTOT (0 SR FROTTF &0 |

95. e SeimmaFE N (el e Sk
“q?
(A) THB
(B) B
(C) HIIBRE
(D) Pre=izs

96. (I X OCF THEA TR 215 77t Rorwy ¢
(A) 100170
(B) 100180
(C) 100190
(D) 100160

97. IUTE TS ©IFCod (T FEL T ?
(A) T2l
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(C) efe
(D) cFam
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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the OMR Sheet supplied for the purpose.

3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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x2+4x-5
x2-4x+3

 x2—x-6

1. Find value : Zrdrs

=
|

(A)

%o
+ +
™ N

®)

L
[N
W o

© =
(D) None of the above

2. Asteroids are found between the orbits of
(A) Saturn & Jupiter
(B) Mars & Jupiter
(C) Earth & Mars
(D) Saturn & Uranus

3. In which country the 2023 Asian Games.

was held? .
(A) China '
(B) India
(©) Qatar
(D) Japan

4, Who is the director of the 2023 movie
Oppenheimer?

(A) Steven Spielberg
(B) Greta Gerwig

(C) Christopher Nolan
(D) Martin Scorsese

5. Ifthe mode of data 16, 15, 17, 16, 15, x, 19,
17, 14 is 15. Then value of x is )

(A) 15
(B) 16
< 17
(D) 19

A-2

——

x2—x-6 x2+4x-5

1. A fofa e ¢ x2+4x-5  x2-4x+3

by
1
—

(A)

L]
+ -+
S5 I

(B8)

Hon
11
W

©
(D) Soigra iR

]
i
-

2. (iR v FHoAT AW SRR Ao e
(A) e 3=
(B) w5 @ e

(O AR e W
(D) *If< @ TWrzmei

3. I reet @R ot 2023 SRS T e
(A) B
(B) o
(C) Fioig
(D) st

4. 2023 AR YRR GroEiENE-97 ARBEE
@2
(A) Foren Poferatsl
(B) 5t st2et
(C) Tormotmg @i
(D) Wi F=wm

5. 16, 15, 17, 16, 15, x, 19, 17, 14 w<=
FRATIUTF T 15 206, x99 T 2
(A) 15
(B) 16
©) 17
D) 19
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6. Grand Canyon located in
(A) Ghana
(B) Bolivia
(C) USA’
(D) France

7. Balf of a tank of 21 dem length, 11 dem
breadth and 6 dcm depth is full of water. Now if
100 iron spheres of 21 dcm diameter is immersed
completely into the water of the tank, find the rise
of water level in dcm.

(A) 2-1dem
(B) 21 dem
(C) 21 cem
(D) 2:1cm

8. Which State is not a part of ‘Seven Sisters’
of North East India?

(A) Meghalaya

(B) Sikkim

(C) Arunachal Pradesh
(D) Tripura

9. A pump of 5 HP can lift 36000 It. of water
in 8 hrs. How long it will take to lift 63000 1t.-of
water by a 7 HP pump?

(A) 10 hrs.
(B) 12 hrs.
(C) 15 hrs.

(D) 8 hrs.

10. If the median of arranging the ascending
order of data 8,9, 12, 17, x + 2, x + 4, 30, 31, 34,
39is 24. Then value of xis

(A) 22
B) 21
(C) 20
(D) 24

FMRI/22

6. &I TN SRS
(A) W=
B) I ST
(C) SHEafrin
(D) zItH

7. 21 SRR R, 11 cofifR 2w 32 6 efift -
IS @I Gt W wEs wiE| 99n Gl
o1t Tft 21 il oA T 100 6 e
ColeTF el B (PR T8 OF GeTeR T (eI
Toitg Goae

(A) 2-1 By
B) 21 ceHf
©) 21 @™
D) 2-1 ¢l

8. i Al Be + sies ‘Gitew FrorT
(Seven Sisters/ S (JI7)-97 TG w7 ?
(A) G
®) R
(C) w5 2l
(D) Tg=ja

9. 5 SpETel Hool @3 A 36000 f: v
8 951 IR 0T TR | 7 ST g ST
63000 f21: &&1 GoTrs g efisieg

(A) 1096t
(B) 1295
(C) 1596
(D) 895!

10. SETPIE A 8, 9, 12, 17, x + 2,

" x+4, 30, 31, 34, 39 STy NG 24 T(E, x-9F T
-9

(A) 22

(B) 21
©) 20

(D) 24
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11, The colour that scatters the least by the tiny
particles of the atmosphere is

(A) violet
(B) green
(C) yellow
(D) red

12, With the success of Chandrayan Mission
India has become the country in the
world to achieve soft landing on moon.

(A) First
(B) Second
(C) Third
(D) Fourth

13. Who among the following is a part of the
political executive?

(A) District Collector

(B) Secretary of Ministry of Home Affairs
(C) Home Minister

(D) Director General of Police

14. Headquarters of South-eastern Railway
Zone-

(A) Bhubaneswar
(B) Visakhapatnam
(C) Kolkata

(D) Coimbatore

15, If 0-8x+§=0-23 +2, then value of x is
(A) 332
(B) 22:3
(C) 2:23
D) 332

11. T[F[WOEE TH FOE w @ FeH wfe
AR e © @ @

(A). RefR
(B) #g&
€ =
(D) =19

12, TEEA e S AR SR e
SiEeE gH R |

(A) 999
®) ¥
) T
(D) vg¢

13. AR el wiftwfds oo wwe
(A) (ot Sred! (TcADR)
(B) ¥Rg w3
(C) Ty W&
(D) s wifgeef (R comiae)

14, SRS WFFe-o FRTE Y RYT—
(A) QI
(B) Reirdieies
(C) =Tl
(D) CE=RA

15. 0-8x+%=0-23+2.x-‘£1§71'|ﬂ'i@
(A) 332
(B) 223
(C) 2:23
D) 332
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16. A man canrow 8 km/hr in still water. If the
river is running at 3 km/hr, it takes 3 hrs. more in
upstream than to go downstream for the same
distance. The distance of place is

(A) 22:5km
(B) 325 km
(C) 25 km

(D) 27-5km

17. The points D and E are situated on the
sides AB and AC of AABC in such a way that
DE|BCand AD:DB=3:1;ifEA=3-3cm, then
length of AC =7

(A) 1-1cm
(B) 4cm
"(©) 44cm
D) 55c¢m

18. The value of ,f10+,f27+,f55+ﬁ =17

(A) 9
(B) 8 -
© 6
D) 4

19. A pond will be dug in our locality. 24 men
need 12 days to cut that pond. How many men will
be needed to dig that pond in 8 days?

(A) 36
(B) 30
(C) 48
(D) None of the above

20. Which one of the following Indian States
has the largest coastline?

(A) Tamil Nadu
(B) Gujarat

{C) Maharashtra
(D) Andhra Pradesh

A-5 FMRI/22

16. <% & iz e 8 1$f/9: ces vie 2, 3
T @ited (34t 3 /9 @ 9 @ieen Reldice
T, YA S FIS (FITS TG (UF 3 T
Ty A e, OTF 6% AT A T

(A) 2253
(B) 32-5 B
(©) 25 ¥/

(D) 27-5 @

17. AABC-<F ABGRACIR SsaDSERT
TSN SRFES @ DE|| BCYRAD:DB=3:1;
7% EA = 3-3 G @, O AC-99 0 21

A) I'1@®
(B) 4 G

(C) 44N
D) 55

18. \/10+\f27+\/65+\f2§ =7
A9
(B) 8
@ 6
D) 4

19, ST ORI AT FHIO LI | 246 @I
6% 737 Bi60s T et 12 Fe ) 8 Fe $3 o5
F60S (FI% AN

(A) 36
(B) 30
(C) 48
(D) &Nt @Iiog W

20. SIECSH (I A T SHradl FEgaR?

(A) Sy
(B) w&Els

(©) Wy
(D) wEeTe

Please Turn Over
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21, Find value of
sin43° cos47° + cos43° sin47°.

(A) 0
B) 1
(C) sin4°
(D) cos4®

22. National Aquatic Championships is a

tournament held in which sports?
(A) Archery
(B) Kho-kho
(C) Wrestling
(D) Swimming

23. Who among the following founded the
Hindu Dharma Sabha in 15th century?

{A) Radhakanta Deb
(B) Ram Mohan Roy
(C) Dwarkanath Tagore
(D) Keshab Chandra Sen

24. The average of 5 numbers is 45. First four
number is 40, 35, 60, 55, then the fifth number is
(A} 40
(B) 35
© 60
D) 55

235, Galvanisation is a method of protecting
iron from rusting by coating with a thin layer of
(A) Galium
(B) Aluminium
(C) Zinc
(D) Silver

21. sin43° cos47° + cos43°5in47° =?
Ao
®) 1
(C) sin4®
(D) cosd®

22, TS TG ol AR Bl (o e
T 22 ’
(A) fowaife

(B) @-cAl

© T

(D) o

23. Safage werce &g o et oS
$?
(A) G (77
(B) GRS W4
(C) BN G
(D) & @

24, 55513 <1 45 | &9 4 6 3271 40, 35, 60,
55 (A, A% R 73
(A) 40
B) 35
(©) 60
(D) 55

25, (IR TACE Sie! (0 T 919 &g 1 e
Areml elteTel (el 2 (AETSIAIRTeHIN) ©f T
(A) Cstferamst
(B) Ui
(C) wal

(D) =it
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26. Who had won an Olympics gold medal for
India in shooting?
(A) Jaspal Rana
(B) Rajyavardhan Rathore
(C) Manu Bhaker
(D) Abhinav Bindra

27. Measurement of each of 5 interior angle is
172° and measurement of each of the other interior
angle of a polygon is 160°. Number of sides of the
polygon is

(A) 20
(B) 21
(C) 25
(D) 30

28. The diagonals of rhombus are in the ratio
3 : 4, If the area of the rhombus is 54 cm?, then the
perimeter of the rhombus is

(A) 48 cm
(B) 60 cm
{(C) 30cm
(D) 12cm

29, Ifthe angle of elevation of the top of mobile
tower from a distance of 10m from its foot is 60°,
then the height of the tower is

(A) 10m

(B) 1043m
10

© F™

(D) 100m

30. The image formed on the retina of the
human eye is .
(A) virtual and inverted
(B) real and inverted .
(C) real and erect
(D) virtual and erect

FMRI/22

26. SRIPATE 3F RIS SIS T 2HAE
T SR (T
(A) i el
(B) 4w DR
(C) I
(D) wfewq et

27, G Tegred 51 iR Afefa AAftmta
172° G2 SAg e dfelba sifams 160°1
Lo AERAN

(A) 20
(B) 21
(C) 25
(D) 30

28, i a3l THCE FHa e 3 : 4 @3

" FH0T CHATE 54 N 2, o[ oF AR =

(A) 48 GiTN
(B) 60 Y
() 30 G
(D) 121

29, WA ©oiq 93 [ (A (IR BreAEE
PO BafS @i 60° =2 TISAET (Aliel (AT 6%
gz g 10 1| BreAicas Tt

(A) 10 fa:
(B) 1043 f:

10
© B®
(D) 100 fi:

30. SFYET A @BATS @ affsRT #itg ol 2=
(A) TP 932 GTO!
(B) &3s 3R BTH!
(©€) =7 @ Bt
(D) S5FS R Figl

Please Turn Over
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31. What is the full form of SAI?
(A) Sports Association of India-
(B) Sports Archery of India '
(C) Sports Authority of India
(D) None of the above

32, Lime water reacts with chlorine to give
(A) bleaching powder
(B} baking powder
(C) baking soda
(D) washing soda

33. The Bengal Famine of 1769-70 was
waorsened by

(A) Locust attack

(B) Ratinfestation

(C) High levels of taxation
(D) Smallpox epidemic

"34, Find the value of K for which (x—3) Wil] be
afactor of the polynomial X2x3 — Kx2 +3Kx—K.

(A) 0or 517-
® 0o
© 2

1
(D) Oor ~%7

35. The mirror used as rear-view mirror in
‘vehicles—

(A) convex mirror
(B) plane mirror

(C} cylindrical mirror
(D) concave mirror

A-8

31 < @ 93 (SAI)-97 e U Je
(A) 5 ST o 3!
(B) Cfo wsIfE = 2fem
(©) it sl o 2w
- (D) qufr swg @b @

32, T o O @IReE R we e =
(A) fafs “eem
(B) @R G
(©) @R et
(D) FisiE FM6! FIret

33, 1769-70 AITET IAWC IATT 2T ZAfRs
(A) *AUAETS S
(B) T AR
(C) o= Yrerel e St
(D) oft T R[N WP 4

34, K2x3 —Kx2 +3Kx— K qesil AR
(x - 3) 9T TeAMS T, K-97 TN TJ

1 -
(A) 09l %7

B) 0

© %

. 1
(D) O&I -

35. foree A (R S G ORI liTS0® AIcE @l
EG|

(A) Tee Sl
(B) T iEl
(C) @RI SEw
(D) == SEA
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36. Artificial flavour for orange is obtained
from

(A) amyl acetate
(B) isoamyl valerate
(C) methyl butyrate
(D) octyl acetate

37. What will be the value of 31_6"+71_2+9L0 ?
*) &
®) =
© o5
© +

38. Who among the foflowing is the author of
the famous novel City of Joy?

(A) Larry Cotlins

(B) Dominique Lapierre
(C) Rudyard Kipling
(D) Mark Tully

39. How many kilometres comprise of a
marathon run?

(A) 42
B) 25
(C) 36
(D) 18

40. Ifx=2+\/?:,x+%=?
(A) 2
B) 23
< 4
D 2-3

FMRI/22

36, TAAIETICS PN NG WS YT TN W
(A) SUIEE ST
(B) RIS SHfES
(C) fuize REHwe
(D) w0

L2 +l—qamwm?

(A) =z
(B)
©

5
84
3
70
7
%
1
® +

38. e Sop ‘B oF oR-9 N e
" (A) IR 3
(B) miff= cfsiam
(C) wfeare el
(D) W B

39, WINYF (T~ F© [rifioE (et =0 e
(A) 42
B) 25
(C) 36
(D) 18

40, If x=2+\/§,x+%‘\ﬂ§m'{@
(A) 2
(B) 243
© 4
D) 2-43

Please Turn Over
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41. In an Election, 80% voters cast their votes
and the winning candidate got 65% of the cast
votes. Find out the percentage of total voters
supported him. S

(A) 26%
(B) 78%
© 52%
(D) 13%

42, Ifaperson travels 10 km by bus in 30 mins.
Then the velocity of the bus is

(A) 10 km/hr.
(B) 20 km/hr.
(C) 30 km/hr. \
(D) 40 km/hr.

43. The length of a radius of a circle is 13 cm
and the length of a chord of a circle is 10 cm,
the distance of the chord from the centre of the
circle is

(A) 12-5cm
(B) 12cm
©) Je9 cm
(D) 24cm

44. Tomato is a natural source of which acid?
(A) Acetic acid
{B) Citric acid
(C) Tartaric acid
(D) Oxalic acid

45, Which of the following mirror is used by a
dentist to examine a small cavity?

(A) Convex mirror
(B) Plane mirror
(C) Concave mirror

(D) Combination of convex and concave
mirror

A-10

41. @36 o o colblmmE 80% Coi
frzces 92 Rt 219t e coitsa 65% (fb (it
s zmEn | ©F @f6 % o T coip
CATTRA T

(A) 26%
(B) 78%
(©) 52%
(D) 13%

42, I @ IEATIH0E 30 RAG 10km A
G CF, ©OIRET IFHT siferet 2
(A) 10 km/hr,
(B) 20 km/hr.
(C)’ 30 km/hr.
(D) 40 km/hr.

43, 56 Ira JrIE o 13 i wixe qoew
w97 0 10 G, 0% (I (U0 T)1<47 MG
A) 125 G
B) 12610
©) Jeo Gl
(D) 24 &ft

44, BB T SIPTER aiigfes Beqe
(A) SpIpIT Spike
B) 7z wite
(C) it spife
(D) e sgite

45, FnfafRe Wﬁwwwﬁﬁmwmﬂﬁ?
LTI A HITST N6 A< AT G 2

(A) T&= i

(B) e S

(C) e STl

(D) T&eIF TG IR SIS SAEH!
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46. Sodium hydroxide is used
(A) as an antacid
(B) in manufacture of soap
(C) as a cleansing agent
(D) in alkaline batteries

47. Which one of the following planets has the
largest number of known satellites?

{A) Mars
(B) Jupiter
(C) Neptune
(D) Saturn

48. Which country shares the longest border
with India?
(A) China
(B) Pakistan .
(C) Nepal
' (D) Bangladesh

1
49, {(125)‘2x (1@"%} g
(A) 10 |
(B8) 10™
. (© 107
D) 1

50. Name the two states .of India involved in
Cauvery water dispute.

(A) Karnataka and Tamil Nadu
(B) Karnataka and Kerala

(C) Kerala and Tamil Nadu

(D) Odisha and Andhra Pradesh

A-11 FMRI/22

46, GfSa FRGHRC JIT© W
(A) SEIfE g
(B) AR BeAME &
(C) ARER TqF o
(D) =9gE FioITS

47, W HZE TREE @R YT WMo Sojag
) (3
(A) W=
(B) 3T~ife
(C) @A
(D) =™

48. @ ST GONE R eled AW
FEANE SR?
A B -
(B) ~ifamstat
(C) Gisite
(D) A=

315
49. {(125)_2x(16)_§'} =7
(A) 10
®) 10™
(© 107
(D) 1

50. AN SR RN SIACSH (I A6 ey
Hee? |
(A) < fos o ofEmIg
(B) 6% @ @
(C) &%= @ SifiErig
(D) 8f& Il @ wgeer
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51. The product of two positive numbers is

16

A-12

16 é

. and their quotient is —.. Two numbers are
(A)
(B)
©
)

i
F -9

- - -

-

Wl W Lo W o]
| o] oy Gl o

52. Acid rain is caused by the oxides of
(A) carbon
(B) nitrogen
(C) sulphur
(D) sulphur and nitrogen

53. Which of the following is biodegradable?
(A) Aluminium can
(B) Polythene bag
(C) Cowdung
(D) DDT

¢ 2a-3b+4c
7 — the value of
. P

4
3

IE

54. If

pi.s
(A) 10
B) 12
(O 11
(D) 13

55. The price of a machine in a factory
depreciates at the rate of 10% of the price at the
beginning of the year. If the present price is
Rs. 60,000, then calculate what will be its estimated

5L Y o1 R ST % T,
2t b 7

-

CHES
e

Liw | b L] |

a
St

-

g

(VI E-RVAN- NV I N NTI NN

52. @b 3t el alRe wife By
TP '

(A) I

(B) izggiem

C) M=&F

(D) 15T @ FiZmIvE

53, 9afe T6G NG (T A5 ?
(A) SpERFEeE ¢ifg
(B) #ffaw et
(C) (oiiad
(D) TRF

55. 4 AT G T &S T 10%
LA QA T | (R 60 60,000 5161 74, 3 T8
I 6% T T T3

price after 3 years. (A) 43,740 Bil
(A) Rs. 43,740 (B) 43,700 Bi<t
(B) Rs. 43,700 - (C) 43,6405
© Rs. 43,640 (D) 44,740 51t
(D) Rs. 44,740
www.kajkarmo.com



56. PV Sindhu is a champion Indian player in
which sports?
(A) Basketball
(B) Table tennis
(C) Badminton
(D) Tennis

57. Which of the following characters can be
acquired but not inherited?

{A) Colour of skin
(B) Size of body

(C) Colaur of eyes
(D) Texture of hair

58. Which among the following is an ethnic
community of Assam?

(A) Bhil
(B) Ahom
(C) Gond
(D) Adi

59. If a commodity is sold with successive
discounts of 20% and 10%, what will be the
equivalent discount?

(A) 28%
(B) 30%
©) 10%
D) 20%

60. A person goes 24m west from a place and
then he goes 10m north. The distance of the person
from the starting point is

(A) 34m
B) 17m
(C) 26m
(D) 25m

A-13
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56. (i T ot T By weram onfPiam iz
Al ?
(A) A
B) GR= G
(C) Jrefirsn
(D) G

57. G3GfTR W00 @G wEe Te W e
Tonifiald s oiteat o e
(A) FE R
(B) G %4om
(ORSEEH
(D) & Re

58, AR Sifo5S @iy (i 2
(A) fest
(B) ==
(C) (s
(D) =i

59. 43l T AT 20% 4R 10% =T By
(A) 28%
(B) 30%
(C) 10%
(D) 20%

60. IR & «FB 7 (e 24 W siffsi
T GRS+ 10 fif: Sexfiee aiv | qIaige (i 63
Wies @Y

(A) 34 fa:
(B) 17 fi:
(C) 26 fil:
D) 25 f:
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61. A train passes two bndge of lcng!hs 210m
_ and 122m in 25 sec.and 17 sec. respectwely
Length of the train is

(A) 60m
(B) 70 m
(C) 65m
(D} 75m

62. Which one of the following countries is
NOT a permanent member of . UN Security
Council? . '

(A) France
(B) China

" (C) Japan ~ )
(D) United Kingdom

63. Thecostofcultivationofa30mlongpieces |

of land is Rs. 150. Ifthe breadth of the land be Sm
less, thecost wouldhavebeenRs 120 Thebreadth
of the land is .

" (A) 25m
(B) 35m
(C) 30m
(D) 40m

64. Whatlstherateofs1mple1nterestperannum
when the interest 6f some money in 10 years will

be 2 _part of its amount (prmc1pal along with - |

interest)?

(A) 5%%'

® 6% . L
© 6% ‘ s

(D) None of the above

_ 65. Who a'moug:st the following fnalé
international cricketer have NOT scored a double
hundred in a one day mtemauonal‘?
(A) Sachin Tendulkar
(B) M.S. Dhoni
- (C)’ Rohit Sharma
(D} Shubman Gill

A-14

61 3B G210 g 122 R A R
25¢1:9R 17 mzmwﬁa—ﬁmxmmm

(A) 60
(B) 70%:
(C) 65 fir:
(D) 75 fa:

62. Twa criefE oo @R i TR

(A) T

® A ’
(C) wtefi|
©) Yo

63. 30 HRME 9ol T RIS /A
150 Bt | i Wi &3 5 fi: 3 29, O 4T
120 o/ 7o | Sffed 2R =<

(A) 25
®) 35f:
() 30f:
(D) 40 f:

64. wmﬁ%wmwzﬁ@mw
10%?%,%%? 2 et 7@
(A) 53%

(B) 6%%

20
© 63%

(D) Seitad @iIoe, T8

65. BT SIET S [eF(HB CLEH (I CATTING
TRE IR (42 IS i) FA0S AN ?
(A) A (TgerTa
(B) 9q.. (i
(©) caifEs =nff
(D) @ foie
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+66. My uncle’s present age is twice of my

sister’s age. 10 years ago, my uncle’s. age was
thrice of my sister’s age. Find the present age of
my uncle. o

(A) 20 years o

(B) 40 years )

(C) 80 years

(D) 60 years

67. Which Grandmaster from India played the
Chess World Cup 2023 final against Magnus
Carlsen?

(A) Viswanathan Anand
(B) Praggnanandhaa
(C) Gukesh

(D) Arjun Erigaisi

68. A mixturecontains alcohol and"wate; inthe
ratio 4 : 3. If 5 1t. of water is added to the mixture,
the ratio becomes 4 : 5. Then the quantity of
alcohol in the given mixture is

(A) 101t
(B) 121.
(O 151
D) 1811,

69. Aman’spresent age is 125% of what it was
10 years ago. His present age is

(A) 40 years

(B) 70 years-

(C) 50 years

(D) 60 years

-

70. xocyandy =8 whenx=2; if y = 16, value
of x is
(A) 2
(B) 4
© 6 :
(D) 8 Lo

66.. ST T T AN @ T
T[ET L) -10 I=7 NS AT FIFERE 79
R @I W fonadt 2, FREIE 9ew1m
TP R

(A) 20723
(B) 40 TR
(C) 80 9=
(D) 603z

67. 2023 fPstel MY (4T FRAGE S
FEETR RIS @i e PSR (AR ¢
(A) Tegmiam s
(B) eIl
(C) w
(D) < afastEfy

68. % it ST '@ W e 4 : 31
- Falors 5 - o TSR T 4 5 1oteE oe
oo @ sifime soeTre e ot @

(A) 10 -

(B) 12 flrm

(C) 15 TG

(D) 18 f&5m

69. «F e TG T 10 T8 A TI-aT
125%, ©F 3T 30 =T
(A) 40Tz
(B) 703=3
(©) 50<=g
(D) 60 7%7
70. xocy Ry =8 TN x =2; y = 16 30, x~99
L ke ‘
A) 2
B) 4
© 6

- (D) 8
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71. Under which one of the following rivers
has India’s first underwater metro rail tunnel been
constructed?

(A) Yamuna
(B) Ganga
(C) Hooghly
(D) Gomti

72
49|26

9 | 16|50
16| x |40
(A) 16
®B) 4
© 2
(D) 8

73. Closest layer to the earth’s surface—
(A) Mesosphere
(B) Troposphere
(C) Ionosphere
(D) Stratosphere

74. Inapartnershipbusiness theratio of capitals
1
6
a profit of Rs. 3,700 at the end of the year.
The profit share of Badal is

(A) Rs. 1,500

(B) Rs. 1,000

(C) Rs. 1,200

(D) Rs. 2,000

of Amit, Angana, Badalisas ¢:3 17 . Iftheymake

75. If the roots of the quadratic equation
4x* + 6Kx + 9 = 0 are equal, then value of X is

(A) 2or0
(B) -2o0r0
(C) 2or-2
(D) Only 0

A-16

71, I TR Ol ACE OR0eT 9w (R A
TR 74 ol =W e :
(A) T
(B) =
(©) =i
(D) CoirSt

72.

9 (26
9 | 16|50
16| x |40

(A) 16 o
(B) 4 >
© 2

D) 8 ;

73. IEWETER GO A ey wE—
(A) AR
(B) Groiieaiw
(C) SiEFERE
(D) “WGIFFaE

74, <FH AR JIAE TS, SFHHI, IMET

TRCH SN <o | TR CTR T GO

=S 3,700 Bl 20e, IR TN 7R
(A) 1,500 B3t
(B8) 1,000 Bt
(© 1,200 5rR
(D) 2,000 Bt

75. R 452 + 6Kx + 9 = 0 A0 Seny (B w014
=, K93 I 97
(A) 292310
(B) —2910
(C) 2=eql -2
(D) @< 0
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76. The length of a radius in a circle drawn by
Arun is 7 cm, determine the circular value of an
angle subtended by an arc of 5-5 cm length at the
centre of that circle.

A)
(B)
©
D)

IS R YN N

77. Buluand Tathagatacan doawork separately
in 20 days and 30 days respectively. After workin g
7 days together both of them left away. Then Tatai
came and completed rest of the work alone in
10days. How many days Tatai will take to complete
the work alone?

(A) 20 days
(B) 28 days
(C) 24 days
(D) 16 ddys

78. What is the full form of IPL in cricket?
(A) Indian Playing League
(B) Indian Position League
(C) Indian Passion League
(D) Indian Premier League

79. The ratio of two numbers is 3:4 and their
H.C.Fis 4. Their L.C.M. is

(A) 12
(B) 48
(C) 24
D) 16

80. The mean proportional of 16 and 25 is
(A) 400
(B) 100
() 20
(D) 40

A-17
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76. TSt il Qe WA e 7 i,
O G Y08 55 A TR a1l aI (e (R
T8 M T

)
®)
©
©)

[STIE R R o N =)

77. I 932 OUTS G TG G G I

20 433 30 it FeCs ita | Sl R 7 T e
TR AL AR 50 (9 | 04 SO 9T 93t 10T
PSB! 4 BT | SR GG O3 935! (18 T0S
TS MY (S 7 '

(A) 20 f=

(B) 28 =
(C) 24w
(D) 16 fae -

78. W& 3 @at (IPL)-~a7 =jzat 7213 9o
(A) 3 cafis Fiat
(B) sl sifepin Fat
(C) A “f=iwt st
(D) 2fSam T2 Bt

79. 6 AT AN 3:4, O LS. 4 0,
A T '
(A) 12
(B) 48
© 24
(D) 16

80. 16 G 25-97 PRI
(A) 400
(B) 100
© 20
(D) 40
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81. Roots of the plants absorb water from the
soil through the process of '

(A) diffusion

(B) transpiration

(C) osmosis

(D) None of the above

82. The theme of India’s G20 presidency .

““Vasudhaiva Kutumbakam’’ or One Earth-One
Family is inspired from

(A) Maha Purana

(B) Maha Upanishad

(C) Rig Veda

(D) Smriti

83. La.rgest river island in the world—
A (A) Sundarban
(B) Majuli
(C) Java
(D) Andaman

. 84. Which number would replace in question
marks in the series ? The series 7, 12, 19; 7, 39.

(A) 24
(B) 26
(©) 28
D) 29

85, The Dutch were defeated by Marthanda
Varma of Trivancore kingdom in battle of

(A) Wandiwash
(B) Panipat
(C) Pullalur
(D) Colachel

A-18

81. siit=d Pire T (At e YR (T (TSIE ©f
- .
(A) Reem
(B) AeHirm e
(C) i
(D) wefFm WG @THE 78

82, SIS SRS G20 AT T “THLda
ThFen” widfe s - AfFIE Niww @in (T
Seliie ? '

(A) S=7EM
(B) TRe~ian
(C) dTWM

D) e

83, fea sdqes TrAri—
(A) FHHH
(B) g
(C) wret
(D) ===

84. 7,12, 19, 7,39 ¢ fite ? I @Al
g
(A) 24
(B) 26
(C) 28
(D) 29

85. (I YTa GETRIGRA ~Iaifere seafee 4
Meera e T2

(A) eTfdeam
(B) ifsi
(C) ~eF
(D) (IETITHet
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86. The degree of the polynomial /5 is
1 .
A 3
(B) 2
©1
D) 0

87. The strait divides Europe from Africa—
- {A) Bosphorus
(B) Bering
(C) Gibraltar
(D) Dover

88. By selling 110 mangoes, if the cost price of
120 mangoes has been got, what will be the profit

percentage?

(A) 3%%
(B) 10%
©) 91-11%
(D) None of the above

89. Thelengths of radii of two circles are 5 cm
and 3 cm. The two circles touch each externally.
The distance between two centres of two circles is

(A) 2cm
B) 2:5¢cm
(C) 1'5em
(D) 8cm

90. Shortest National Highway in India—
(A) NH548
(B) NH8
(C) NH44
(D) NH3

A-19 FMRI/22
86. 5 el Y Tt
1
@ 5
(B) 2
© 1
(D) 0

87. @ 2 2 @ Wi Rew s
(A) TR
(B) @fe
(C) TEEroE
(D) ceretm

88. 110 o Rf& s 120 & wizm wgpy
(o *oFal =S 7a
(A) s%%
(B) 10%

1
©) 9ﬁ%

(D) S IR 78

89. 76 Jren IPIER O 5 G @<e 3 A |
T Y
(A) 2@
(B) 25 @AM
©) 15N
(D) 8

90, SITSS TG A A TS ST (NH)—
(A) NH548
(B) NHS
(C) NH44
(D) NH3

- Please Turn Over
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96. Which of the following causes depletion of

the ozone layer?
(A) Carbon tetrachloride
(B) Methane
(C) Chlorofluorocarbon
(D) Carbon monoxide

. 97, Who among the following is the author of
t(he book ‘Bandi Jiban'?

(A) Rashbehari Bose
(B) Veer Savarkar

(C) Aruna Asaf Ali

(D) Sachindranath Sanyal

98, The length of radius of a sphere is
increased by 50%. How much per cent will be
increased of its curved surface area?

(A) 120%
(B) 125%
©) 25%
(D) 130%

99. fg:2=b:5=c: 8then
50% of a=20% of b = % of c.

1
(&) 125

1
(B) 125

1
© !05

(D) None of the above

100. For a two digit number, the sum of two-
digits of number is 14 and if 29 is subtracted from

the number, the two digits will be equal. Two digit
number will be

(A) 95
(B) 86
(C) 59
(D) 68

A-21 FMRI/22

96. wafe My T Ty SR w9 gHee
ZHe
(A) T (oS
(B) fngs
(C) @RFgEER
(D) T TS

97. T B R’dT FNT @
(A) TR @
(B) ¥z Areaw
(C) =it e ifer
(D) B A=

98. @3 coirATE T R 50% 3 A
O CHaTH 4 oid
(A) 120%
(B) 125%
(©) 25%
(D) 130%

99, I a:2=b:5=c: 8@
a-99 50% = b-99 20% = c-9q %.
1
(A) 123

1
(B) 123

1
© 105

(D) Srima iR =

100. @3 72 SCEa WA U wE BT A 149
FIB (A 29 FAra st gwaet e (B A T | FRGIB
e

(A) 95

(B) 86

(©) 59

(D) 68
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